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\ tions.
Direction : Answer the Jollowing questions (Q. Nos. 1 to 30) by selecting the coprect/most appropr iate opti
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1. Jean Piaget believed that knowledge is :
(1)  a visible behavioural change that can b.t‘ measured wi reliability.
(2)  constructed by the child rather than being passed Passively from the environment.
(3) innate and given rather than acquired through interactions,
(4) Co-constructed in interactions with more klmwlmiguuhlu others.
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2.

Which of the following statements about adolescence is not correct ?
(1)  Children across different cultures usher in and experience adolescence in a similar manner.
(2) Adolescence is a social construction.

(3)  Adolescence is generally considered to begin with puberty= thesprocess that leads to sexual
maturity and the ability to reproduce.

(4)  Adolescence is developmental transition between childhood and adulthood entailing physical,
cognitive and psychosocial changes.
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3.  Which of the following describes a mastery goal orientation ?
(1) focus on avoiding failure or punishment for fear of humiliation.

(2) focuson achieving a certain leve] of performance for competing with others.
(3) focuson improving ones’ skills and understanding of a task.

(4) focuson achieving a high grade for receiving external rewards.
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.~ & Which of the following best g, e

' (1) The teacher lets the Childre{\ : .% the role of the teacher in progressive education ? :
(2) The teacher is the primayy | dependently and does not interfere in thejr Jearning:
fource of knowledge and authority in the classroom.

3) The teacher provides diyep. X
( as and when requireq_ versiﬁnf,ﬂterials for children to experiment and provides scaffolding

(4) The teacher is responsibje fI("
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%.ehsuﬁng strict adherence to curriculum standards.
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5; Acc‘ol nrdlnk;] g to Jean Piaget the ability to use symbols for symbols such as letting the letter X stand for
an own numeral develops during__ and enables the children to learn .

(1) formal operational stage; canservation and seriation
(2) concrete operational stage; algebra and calculus

(3) concrete operational stage; lconservation and seriation
(4) formal operational stage; algebra and calculus
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6.  Which of the following is an example of a question that requires students to analyze information ?

(1) Who is the protagonist of “To Kill a Mockingbird™?
() What is the plot of the novel “To Kill a Mockingbird” ?

(3) What is the theme of the novel “To Kill a Mockingbird™?
(4) How does the author use symbolism in “To Kill a Mockingbird"?
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A ent to the
7 éA;;":rﬁon v Il and stay in school if they have emotional attachme the
€Ats are more likely to do well and sta '

school and believe that they matter.

Reason (R) '

Emotions play 4 significant role in learning.

Choose the correct option :

(I)  Both (A) and (R) are false. : f (A)

(2) Both (A) and (R) are true and (R) is the correct (’Xplanah(wnf) A).

(3)  Both (A is not the correct explanation of (A).

3 ) and (R) are true but (R) is ne

() (A) is true but (R) is false.
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8.  Asking Critical questions such as “how much

and in what wavs are various gender represented in
textbooks and media” would encourage :

(1) Discouraging gender role flexibility (2)  Questioning gender stereotypes
(3) Strengthening gender constancy (4) Reinforcing gender identity
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9.  In order to address the individual differe
(1) implement a rigid and uniform cyr
(2)  acknowledge differences as abnormal anq king of deficit
(3) be indifferent towards individug] differences
(4) consider differences as obvioys feature of human diversity
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nces among learners, a teacher should -
riculum for all learners
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11.

12.
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In a progressive classroom aﬁfssmen b
is :
1) Normative @)
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Alok shows the followi
and rubbing the eye fre“;lgl;s:l\ 1“01"8 Holds head in an awkward position when reading; squinting

of potential : s redness/ swelling of eyes; confusing letters. These can be symptoms

(1) Communication disorder (2) Visual problems

(3) Language comprehension problems (4) Autistic spectrum disorder
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Assertion (A) :

There is no objectively defmable moment when a child enters middle childhood or adolescence.
Reason (R) :

Development is continuous in nature.

Choose the correct option. ‘

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.
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13. Assertion (A) : iro wf} stereotypes and bias.

Teachers should constantly reflect the

e (R that tea%ﬁ;ré are reflective.

Culturally responsive teaching means s

Choose the correct option :

(1)  Both (A) and (R) are false.

is the
(2) Both (A) and (R) are true and (R) is " ton of &),
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

I
(’:oi'rgct explanation of (A).

(4)  (A) is true but (R) is false.
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14.  According to Vygotsky, what is the role of the teacher in
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16.

17.

el T

A middle school teacher wantg ) .
petween concepts and real-w;0 enable meaningful learning by helping students make connections

appropriate pedagogical Sbategf;d?appucaﬁm, Which of the following activitiés would be gn

1) Let the students res
(1) lass. earch on g current issue in small groups and present their findings to the

(2) Let the students memorize terms and definitions.
(3) . Let ::e stujents complete worksheets with multiple choice questions.
(4) Let the students learn by the method of stimulus-response conditioning,.
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According to Lev-Vygotsky children benefit from the experience of interacting with
while working _______ their zone of proximal development.

(1) the physical environment; just outside

(2) more knowledgeable others; within

(3) more knowledgeable others; just outside

(4) the physical environment; within
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condition which impacts learner’s ability to

Dyslexia is a
(1) sensory, coordinate body movements

(2) emotional, draw pictures
(3) neurological, link sounds with symbols

(4) physiological, socialize with peers
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/1 '18. Which of the following characterise the process of socialization ?

0 (@) Itisali It is a complex process.

o :c)) Itisa :unnwudiojjmal process. f:; It takes place uniquely in different cultures.
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19. Assertion (A) :

In an inclusive classroom, adaptations should be made in learning goals, pedagogical strategies as
well as assessment.

Reason (R) :

The philosophy of inclusion advocates elimination of all individual differences through pedagogical
approaches and assessment.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.
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20. which of the 0.110ng floes not exemplify an inclusive classroom ?
(1) Encouraging competitive ey

) Incorpc.)ration of diverge Perspectives

(3) Following reasonable accommodation

(4) Offering differentiateq instruction
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91. Assertion (A) :

The less able a child is to do a task the more directions the teachers should give and a
do more and more the teacher should help less and less.

s the child can

Reason (R) :

Intelligence cannot be accurately measured by calculating IQ.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
- (4) (A) is true but (R) is false.
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trouble paying attention

A teacher notices that one of her students is highly distractible and has ping the student

during class, Which of the following strategies would is an effective strategy 10 h
stay focused ?

(1) Calling the parents and taking strict disciplinary action against the student

() Giving the student repeated tasks to do during class.

(3)  Strictly telling the student to increase their attention span.

(4)  Giving a timer to student for self-regulation and time-management. g
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Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.
Reason (R) :

Development is relatively orderly and sequential.
Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.
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26.

() They involve students in the Process of assessment.

®) They offer insights about the Progfedsof individual students.
() They focus mainly in the pregentatiopi-of the final product
(d) They offer tangible evidence of studedit learning.
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Which of the following is a core principle of constructivist learning theory ?

(1) Learning is primarily a passive process that involves receiving and memorizing information.
(2) Teachers should provide direct instruction and explicit guidance to students.

(3) Learning occurs when students receive correct answers and feedback from teachers.

(4) Students construct their own knowledge through active engagement with their environment.
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The central argument of Carol Gilligan’s critique of Kohlberg's theory of moral development is
around :

(1) Educational implications of the study for school going children.

(2) Ethics of care and the feminist perspective.

(3) Overestimation of children’s moral abilities.

(4) Use of experimental design in studying children.
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29. In which stage of Kohlberg’s moral development do children’s reasoning revolve around ethics of
faw ? .

(1)  Autonomous morality 2) Preconventional morality

(3) Conventional morality (4) Heteronomous morality
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30. Anelementary school teacher can s

Special students
(2) Keeping very low expectations from aj) students

(3) Punishing autonomy and initiative jp, Students
(4) Rewarding autonomy and initiative in g

tudents
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ion ¢ A the followi i
[g;;'t:on nsweryﬁ g_ l;;u:g# q;esé;n:’;y /;;[gﬁ”g the correcg';’;slt appropriate options.

. The number of vertices .
31 Then, the value of (3x _(1V2))' iid'ges (E) and faces (F) of a polyhedron are respectively 10, 15 and x.

(1 18 2 7 @ 9 4) 14

?{frm%vﬂﬂ (V), TR (E) aik werl (F) 9 womd am: 10,15 3R x &1 7 (3x—12) F1AH

1n 18 @ 7 @) 9 @) 14
32. Oneofthefactors0fp3x+p2(x—y)—p'é&;§.z)_zis:
W+
() pa+py—z  (2) plx-py+z () patpytz (@) pE-py-z
p3:+p2(x—y)—p@/+z)—z'3ﬁ‘gﬂﬁ'l§'ﬁﬁ}ﬁ,@ﬁwm%:
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33. Ifa8 - digit number 94 71x 9y 2 is divisible by 72, then which of the following statements is not
true ?

(1) x=3andy=1 (2) x=8and y=5 (3) x=4andy=9 (4) x=9andy=5
?Iﬁis—aiaﬁqd@l9471x9y2,72ﬁfam%,?hﬁwﬁﬁﬂwmmﬂﬁ%?
1) z=33Ry=1 (2 x=83Wy=5 ) r=43Ry=9 (4 =z=93My=5
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glvm g a discount of 28% on its marked price, The
34. A shopkeeper sells an article for ¥32 & aﬁe article by giving 18% discount on its same markeq p';.:
price of the article is ¥ 300. Ifhese“"' 09,
then what will be his profit percent ?

(1) 24% (2) 10% ) lgff :;%23%
% 23%
(1) 24% 2 10% (3) 9‘5i 4)
35. Concept was labelled as ‘Schema’ by :
(1) Van Hieles (2) Vygotsky (3) Piaget (4) Bruner

mmﬁ‘m'#mﬁmmwml
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36. In triangle PQR, £P=55° and QR=18 cm. In whicﬁ; of the following cases, APQR can be an
obtuse scalene triangle ? =

(1) 4R=35° and PR=18 cm (2) £R=25%and PQ=18 cm

(3) 4R=15°and PR > 18 cm (4) Z4R=65°and PQ > 18 cm

g‘gﬂl’C%Rﬁ, £P=55°" 3 QR =18 cm | e feaferai o ey APQR T 3ifues o farewag it
W ?

(1) £R=35 3R PR=18 cm

(3) <£R=15°3RPR>18cm
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37. A student was given the follo

: wing proble tage to sol

“Find the percentage of decrana m on percentage to solve,
as i ' i 7

She wrote the following solutio: if the population of a city decreased from 28,000 to 26,500.

Original population = 28,000; New population = 26,500

0
X 100% = 94.6%

0
% decrease = 28.000

Which of the following is most appropriate with respect to the response of the student ?
(1) Student has made a careless mistake.

(2) Student is able to understand the concept of percentage but is not able to understand
percentage of which quantity is to be found.

(3) Student has solved the question correctly but has used wrong symbols in solution.
(4) Student does not know the concept of percentage.
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YRS SEEA = 28,000; T8 SHEEN = 26,500
. _ 26500
WA % = 28000
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x 100% = 94.6%

38. The lengths of the parallel sides of a trapezium are 11 cm and 25 cm and the distance between

them is 12 cm. Its area is equal to the area of a rectangle whose sides are in the ratio 3 : 2. What is
the perimeter (in cm) of the rectangle ?

1) 70 () 40 (3) 50 4) 60
fopelt et g Y A I 11 cm 325 cm ¥ 3t 37 19 R G 12 cm 1 TR &AFA 39
A AR 3 e PR o 3 : 2 % iU & §)1 39 SR 1 UREY (cm ) FE?
1) 70 (2 40 (3) 50 4) 60
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39,

410

when x=5.6 ?

J(cl;’ .2338invel'selyasy. When x=35, theﬂ.‘lz(.bz.i 1.5 3 mx:56%;aaymmwm?

: @ 14 a5t qEy=24 ¥ o1
%, Y 5 W S faa s &1 99 1=35 8 @ 2
M 28 o 1A @ 15 5

is ——, then the reciprocy
The product of umbers i 40 1¢ one of the two numbers 15 =7
uct of two rational nv 18 =3

of the other number [; between : 1 1

1 nl . 3 9 2 mds @ Fady
() 7 and @ spamdzyg @ 343

. 5 & Fl ohy fra g
AR = TR — A 4 AT AT 3 A

1 1
1l 3 49 2 il @ IR
(1) 4 AR 3 (2) 20 3R 50 ®3) 50 5 5
National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to be
used in classroom teachin

g- Which among the following are correct in the context of using sports
integrated pedagogy in mathematics classroom ?

(@) Teaching-learning process shall become joyful.

(b) Itis not possible to use sports for teaching mathematics.

(€) It will be time consuming and hence needs to be avoided.

(d) Apart from popular Sports, there are many indigenous sports which can be used in teaching
mathematics.

Choose the correct option :

(1) () ()and(d) (2) (a)and (g ) (b)and 4

Tt R A, 2020 R 57 i e v e ot e 2 (@

E T e & s § i 2 s ¥ g I W o g

(a) Toegor-afiem wiwan stems @ gt

(b) I A TR F v g 3

© wﬁ?@?ﬁﬁm@mm.

(@ s e 9 Ry

it frrea 99 meﬁﬁmmm%l

M ®©.OQMA @ @k

16
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I 81473772

BD is the ciagonal ot parallelogram ABCD ZCBD=12x, ZABD=7y, ZADB=60° and
£CDB=28". Then, the value of 2x+3y js ; A et daiia: 'y, I L
[ 2 @ 20° @) 21° @) 22°

freft I STYS ABCD %1 Rl BD v we & % £CBD =12, ZABD=7y, ZADB=60° 3R
£CDB=28" R\ W& 2x+3ywum & .

1 2 @ 20 3) 21° (4 22°

Which of the following is not a dimension of assessment of mathematics learning ?
(1) Mathematical reasoning

(2) Communication

(3) Patterns and procedures

(4) Disposition towards mathematics
frefafes § @ F-w it sfirm ¥ stere w1 srm T §?
(1) i @k

(2w

@) wimm (Yed) ir ufsran (wrei-faf)

@) it & gfd T =

If x=1.011 +10.11 —12.101 +0.1011, then what should be added to x to get the sum as 1.1 ?
(1) 1.1311 ) 1.9789 (3) 03111 @) 0.2211

e x=1.011 +10.11 —12.101 +0.1011 &, & x ¥ a1 Srer e, e ATt 1.1 Wra &2

1) 11311 (2 1.9789 (3) 03111 @) 0.2211

1 B RN BT

SPACE FOR ROUGH WORK /T &Td % (91T ST§

L v o



45. A migal | ‘
: @ school mathematics teacher POS28 %, ¢piowing data ?

“Which 5)
type of graph would you use to .
thletics meet to 9:00 pm ata station.

(@) The heights of participants in an @ from 9:00 am

The number of passengers boarding trains

€ intention of the teacher is to - ;
(1) Teach the use of histo;;ams for data representatlon. . h an d line gl'aph'
() Help learners understand the difference between bar grap

8; ,lrnh':}?ﬁ the concept of pie charts.al e atioeis
' Teach line graph through contextual st :
m@ﬂﬁnﬁmgw%zﬁw#mﬁmf@ﬂw;&gf'
“mmﬂaﬁ%mmmm#mmm -
(a) Freht Serg whrifirar & shreafrl F 9% NP
¥ |qEeAn|
(b) mémwm:gzooaaam%maﬁﬁwmﬁaﬁmmﬁ
Hemfaen 1 o § - ’
(1) Sitws ¥ Frevw ¥ fag srafan & swim & o
(2) m-mmr@-ma;aﬁwm@mwmaamml
(3) - Wt srEuRen % IR 3
@) YE-erE w1 g vifteddl gara faeer ST |
46. Teacher conducted an oral assessment in class and found that Ram can speak definition of all
types of numbers - odd, even, prime and composite accurately, but not able to identify the numbers

accurately when given a set of numbers.

Which of the following is most appropriate for the above situation ?
(1) Ram has analytical abilityhpexams.in

(2) Ram has good memory but lacks practice.

(3) Ram has good memory but lacks concentration.

(4) Ram has good memory but lacks conceptual understanding.

ﬁmﬁwﬁﬁﬁ:ﬁwaﬁ?ﬁma@mmmﬂzwa@ﬁmﬁww,aﬂmaﬂ'{mﬁ
Fft TR F gEmell F gad ¥ A WU T FHa 8, Wy = demed
e ot o = A = v e T @ R’
S TR ¥ fore Frefofaa 3 & ¥ @ sfi-vugE 32
(1) '{Wﬁﬁ?ﬁﬂ'ﬂmm%l
(2) WE&WWM%WW@W%I
3) T Y TR AR IS § W T R Y
— ~ SPACE FOR ROUGH WORK / % %14 % o g ol

p.a1 (NNIOHOENID "
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47. 'The area of the curved surface of 5 right circular cylinder is 4400 cm? and the circumference il its e

base is 110 cm. Its volume (in m?) is: Use ,,:.22)

(1) 0.0382 (2) 00284 —x (3) 0.0385 (4) 0.0285
: e
frelt v 1 Yo o aw T Qawé@ocﬁ%aﬂtmanmﬁwﬁfinmm%l I

T (mo ) =§wmm@3

(1) 0.0382 (2 00284 =] (3) 0.0385 (4) 0.0285

N

48. The difference between two supplementary angles is 20°. If the smaller of these angles is p, then
the value of 3p —50° is :

(1) 190° (2 310° (3) 270° (4) 250°
A TR R0 H IR 20° R IR A D HW p R, A Ip-50° FAAR:
1) 190° @ 3100 1@ 20 @ 250°
=
x (-1 () . is x Y\,
49. Ift _ (_) + [_) , then what is the yalue of (— + —J ?
y 3 3 N y X
~
48 3 Y 19 38
1) 3 @ = ‘Yo 5 @ =
~1\% a2y x_ y)!
X (_) - (_) 3@ (— + —) A FME?
y 3 3 y =
3 19 38
(1) ‘-24% @ 1 006 35 @ =
SPACE FOR nouciévoux / Th & & foe g
=
o
=
~
A

PIL (HBGEIan DD 19 p



then what is the sum of g,

SOQ If = 2.—x-—3,

co-tf: =2x2+12x, B=11-8x+3 -17- 4% and D=

iy 3“91“8 of 22 and x in (A +B+E-D) ? 4 @ 1

5 - .
R A (2) 0 ()3111 D=x2—x-3 g @ (A+B+C-D) T 2ok,
¥ = —2x24 12, B=11—8x+%=17’4x2
mwm%: '.~ 4 1
1) 3 == @ -1 )
@ 0 <

51. < Which one/ones is/are correct

A student listed the following p@e‘ﬁes of Raﬁonﬂl Numbers.

(3) A rational number includes integers.
®) o (zero) is not a rational number.
(¢)  All fractions are rational numbers.
Choose the correct option :

(1)  (a) and () (2 (a) and (c) 3)
T forenelt 3 Wi wemsl ¥ fraffga T T
(a) T i wem #§ quits wffee-t|
®) I (0) TR Hem T B ‘f;
() W firet i e et €L,

Only (b) 4) Only ()
— gqﬁaaﬁ?—mf@'ﬂ'tﬁ%lg ?

(1) (a) 3R () @ (a) P @) F99 (b) @) ¥ ()
a0

52. In triangles ABC and DEF; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, £F=40° and ZE=90°. Then,
which of the following statements is true ?

(1) AABC = AFED, by AAS (2) AABC = ADEF, by RHS
(3) AABC = AFED, by RHS (4) AABC = ADFE, by AAS

firssit ABC 3R DEF #; £B=90°, BC=8 cm, ZA=40°, DE=8 cm, £F=40° 3{R LE=90° % 7, ™
FUA A FA-WMFFAREE? ]

(1) AABC = AFED, AASERI [™= (2) AABC = ADEF, RHS gNI
e

(3) AABC= AFED, RHS g1 }fﬁ (4) AABC = ADFE, AAS ERI
SPACE FOR ?Q_@GH WORK /1% & & fere srig

—_—T
3

51
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53.

55.

Mathematics is a way of thinking since ;

(b) Students reproduce formulae ang symbols during problem solving.

Students use i .
© appropriate strategies for solving various new problems.
Choose the correct option :

(1) Only (b) @ (o) and (v)

(3) (b)and (c) (4) (a) and (0)
o T WA T § iy

(a) Wwﬁmwmﬁ%ﬁﬁmﬂm(dﬂﬂ) T ¥ fou ST yer Y B
(b) T TN < 2 et ol v et e )

(o foremet Fafvr ¢ wemsll w3 forg S AR S €
& fawey =1 w1 il

) ¥ () @ @3RE @ @ @) @M

Three numbers are in the ratio 2 : 3 : 4 and the sum of their cubes is 33957. What is the sum of the
three numbers ?

1 81 (2) 54 (3) 63 @4) 72
T e 2:3: 4 F U | § 2R 7% =W 1 A 33957 ¥1 39 i Wt w1 a9 a2
1) 81 (2) 54 (3) 63 @ 72

Three consecutive integers are such that when they are taken in increasing order and multiplied
by 3, 5 and 2, respectively, they add up to 99. What is the sum of the original first and third
integers ? '

1 24 ) 16 3) 18 @) 20

9 FurE g 39 YR € f 519 3¢ 9gd g¢ A A o S § iR s 3,5 9o 2 § on ek Sl
W 2, B AT 99 I Bl ¥ 1 AR 98 AUl ARY qUItehi 1 FRT T ] ?

1 24 @ 16 . (3 18 @) 20

SPACE FOR ROUGH WORK /7% &1 & 1T SFT§

S
el T 21 P

SR



é arton @
56. The : ent fruits keptina ¢
N_fil.l_owmg table shows the number of differ

Type of Pome-

fruits |Mangoes Apples | Oranges | Guavas granates
———

Nlm\ber 44 30 38

56 42 . the angle of the sector represenﬁng

If a pie chart is constructed for the above data, what will be
?p)ples ? - (@) 96°
1 100.8° (2) 79.2° (3) °
P SR 3 et e o e g s el o s 1 e 7 €

el & -

vwr | | ¥ | @R | s
e —

e 44 56 42 30 38

mmmﬂmwmmmﬁ,ﬁmmmmwmﬁhﬁﬁm%?
(1) 100.8° () 79.2° (@) 72° (4) 96°

57.

A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height

are respectively 1.48 m, 1.16 m and 83 cm (base =length x breadth). What will be the cost of

painting its inner surface at Z 150 per m? ?
(1) T 84250 2) 83820 (3) 839.10 (4) T 841.40

mﬁmm@msmwmmm%n W TR T, del qw SO wuwm
1.4sm1.16msﬂ183m%(mun=ﬁm§x€|31§)| TR 3Miafh Fael W 2 150 iy m? B R/RAF

FTA T AW TR
(1) ¥ 84250 2 T 83820 (3) T839.10 4) T 84140
58. lInythe Taedxan :?fb th; et’iatadi"% % 713 17,15,21, 24, 29, 23 is and the median of the data obtained
re cin an i : .
b andpx ¢ g 3 by Y 18 1n the above data is Y, then what is the difference between
(1) 4 2 1 B 2 @ 3
afe iwS 30, 8, 7, 3,17, 15, 21, 24, 29 23 W y
- , ‘ * % SR i § 3y 3
uﬁwﬁamﬁwmamémmvﬁy%,ﬁ.ywxwwﬂ%, 339 T 8 A 18
1 4 2 1 @) 2 (‘4) 3
SPACE FOR ROUGH WoRK —
AL 0 S fow

p-11 [NEDIGITATIGENRNG "



59, :IA class :nzaﬂ::;kaﬁcs teacher poseq the following problem to her students : : _
r:s‘P::t;vely- " What ltshr the Imu;mt?d together. Their steps measure 70 cm, 85 cm and 95 cm. -
distance in complete steps 7" distance each should walk so that all can cover the same
Which of the following concepts would
(1) Concept of proportion
(2) Concept of HCF
(3) Concept of LCM

(4) Concept of division
4 VI T O % foferemn 3 aro ferenfefe 3 e Fretferfiad oo <l

“ur: FRA WA A R we we gy w0 % el I AR HwA: 70 A,
85 A7, 3R 95 A7h. F T ¥ Wl =em fre ot 99 76 A 99 g0 R-R i F ag wwH 2"

et = - sTauRond ey e v T w5 Forg o @2
(1) EIEI i SEYRy

(2) W& YUNEdH (W.H.) F srayRon

(3) TITH THIYNAF (F.9.) F SauRon

(4) fawrsA =t sy

be required to solve the given problem ? °

60. Which among the following Learning-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom ?

(@) Geogebra (b) Taylor's abacus (c) Computer (d) Spreadsheet
Choose the correct option :

(1) () ()and(d) (2) (a)and (b) (3) () and (d) (4) (b) and (c)
TIfor =i he A gfeanfia faenfiai & fo fFrafafaa sifm fieo daeE (ta 3 om) A IR T E
TG § ?
(a) foESIT (b) R = frar () FIR @) dredie
T foweq 94 -
M G @R @ @RE) B) (@) @ () 2R ()
SPACE FOR ROUGH WORK / T &4 % féq wrig

Rl T



Direction : Answer the following q@stions by selecting the

iy !

61. Whid':ofﬁ\ f : w*Wﬁimmmimw . . of bhindi
(a) Rust Oef v:ll::::m & plant dlsea(s:)(s) aé;‘:s tanker (©) Yellow vein n;(;sri‘;c(g
(1) Only (¢) @ @and® @ Ony® @ ©
ﬁqﬁa@aﬁ%aﬁqﬁmm(m/mﬂ)mWaﬂ%? . e i
@ WAmemofmi ¢ REw @ MEATEE
1) FF& (o @) (a) SR () (3) = (b) @ OO

62. Identify the correct statement(s) :

(@) : A fact is an observation that has repeatedly been found to be true ove
(b) : A law is a theory that has repeatedly been found to be true over the time.

(1) Neither (a) nor (b) (2) Only (a) @) (a)and (b) (4) Only (b)
W& F/ B I T

(@) : T2 TF e ¥ R TR SRER 9 9 T €

(b) : T o= fugia & Ford TR SRR 9 & 7 R

(1) @IREGATFERTE  (2) ¥ (a) (3).(a) 3R (b) 4) Fad (b)

63. Find the set that correctly matches the plants in'column A with the mode of asexual reproduction
which they exhibit :

Column A Column B
(a) Rose (1)+2, Budding
(b) Yeast (ii) .~Spore formation
(c) "Ferns (i) Fragmentation
(d) Spirogyra (iv) Pollination

(v) Vegetative propagation
1) @4v), G-, @0 @@ @ @)-(v) B)-), ©)-Gi), (d)-Gii)
3) (a)-Gv), ©)-0). ©-(v). @)  (4) (@-(v), (b)-(ii), (c)-(i), (d)-()
39 qg= I e N e A H w=d F1 35 g weRia i w9 faf 2 e e wER A
i HE R :
m A m B
@ T 0 TFE
© wE @ mm
© W (quifT) (i) EEF
@ FrETET (iv) 9
(v) i yady
@) ( a)-(iv): (b)-(ill), (©)-(1), (d)-(ii) (2 ()-(v), (b)-

@) (@) OO @O @ @), oo - (-

(), (c)-Gi), (a)-)
pxr (DDA 24 P



. Which of the following woulq - ,
64 i voopes pii lenth bea most §liigable strategy to introduce the topic ‘deficiency diseases
(1) Hold a diSCUBSiOI\ on common h
g; ir;wde af definition of balanced @f;and introduce the concept of deficiency.
ange for a doctor’s iptiof : y s . . .
around ithpexams in Prescriptiofrpertaining to a deficiency disease and hold a discussion

<%

(4) List the various nutrients ang the.,g;%ctions they perform in human body.

I A TR ST 2’ o g v 4 P 4 i e v o a2
(1) R AFE Heidd I R wfmst e

(2) VR SRR A} IR TR T qor 9w F} STAUROT F1 TG FA

(8) ST I N Heiferw Sa (Fafea) TRV FY ST I R IR HE

(4) wE R H fafe vt ol i el w3 freaee @ § 39 geeg @

 diseases.

) ) Y
65. Which of the following is the most sui ble strategy for introducing the students to the concept of
‘chemical reactions’ at upper primary level ?

(1) hH:ld a discussion on chemical re&ﬁm which students are likely to have observed in their
(= LY 2

(2) Explain the concept of valence el&j?ns and electronic configuration

(3) Write the chemical equations in sﬁ;golic form and ask students to observe

(4) Define a chemical reaction and gi??:é_xampleshpexams.in

5 IO TR R TR S’ s 3 i @ offea w0 % fag Freeten § @

$ dt sifa Iuge wrifd €2

(1) 3 At sfufwaell W ufest s fome faenfda 3 57 shem § dwfad w9 s
W@y
(2) G gerag iR e farare i SrEuRon W e wE
(3) TemfE St H Fdteneren 9 A e e frenfdE w et w6 % fae
(4) T SfvfEa S R T I 3
P~

66. A ball is thrown up in the air. It reaché?i'g:maximum height and then returns to the thrower.

Which of the following quantities have tﬁé?ame values during the upward and downward motion
of the ball ? =i

(1) Work done by gravity (2) Acceleration (3) Force of gravity (4) Displacement
o e ) T R SR e T | e S e 7 T 6 T e T % e o

|
e 7} Sftpet sl srergeh i/ <T@ % T frfafan 3 & 9 = oRell = wm wm R2
(1) TR RN T EE (2) () e N uA (4) fereagd

- MU g ® s



67,

68.

. theory of gravitation being
Which of the following is the most suitable reason behind Newtons
regarded as an excellent theory ? .
() It has been developed over a long period of time ing fewer assumptions
(2) 1t explains larger number of {bligrvations by wg
(3) It has been arrived at after ﬂlﬁ!éugh expeﬂmmtatl(’n .
(4) TIthas been formulated: using &“Pm language of ma

it FRY
’ia%mma:m@@zﬁmwammﬁwmmm
+

1) sﬁaﬁmmﬁmﬁ%ﬂ

() ﬂsmmma@m&maﬁmm%
) TR i & vvw @ wg

@) B TRy o s a1 e s e o T &

Read the following text :

When a Negatively charged rod is brought near an uncharged electroscope,

(@) the electroscope leaves move father apart
(®)  both the electroscope leaves a‘ggtfire similar charge

(c) the negative charges pass on fate electroscope causing its leaves to move further apart
Of the above three statements : T

(1) (a), (b) and (c) are inferences &\U

(2) (a) is an observation while (b);ggf'a (c) are inferences
(3) (a) and (b) are observations aﬁ :(g) is an inference
(4) (a), (b) and (c) are observations

Frfofen o =) i

T4 S T/ AR 5 (F5) A s
() Toregereett wival e e R i gx iy
(b) ﬁﬁwﬁmmmfﬁam
o mmﬁm“%ﬁﬁ“mm?mmmw@z«wm
=t St § ~

IR A P F ;\E

2) (a) ST & T&F (b) 3 (o) "
3) (a) 3R (b) FAE ¥ 3 (¢) 3

@) (@), () 3 (o) s &

m%ﬁﬁsz%’

P-11 {ERDIGLEIOMANRID 26



g MU0
e 2 (LD

z Lar ¥ N
"

= ; : mx of m i ' "> ‘. _‘ : ~ (J. : =

6% ﬁgardinsmﬁ\e A gm 18 lying on a horizontal table. Which of the following statements is trae >

: ‘ (s)admgonit? enis B owe. o °

(1) Anunbalanced force of 5 [=10 m/s?] s
(2) No force acts on it N acts on it in the upward direction

(3) AnunbalancedfomeofsNam . .
(4) A pair of balanced forces acts on ‘;’:‘ it in downward direction

At (ST AW (T) W 3 g s fesd (afe) F woH (WeRD) 500 T &1 30 W AR W
wa/wel % Wy ¥ Frefefian 3§ A o o o @t 47 [g=10 m/s2)

(1) SRR & A WS N = arelgfom e wd W

(2) W VA T F T

(@) mivgeh R ¥ 38 W5 N w1 sregfer ww w w §

() W T W I (P 38w FH e

70. Which of the following is N icati isi i
(1) Identifying \:::‘li‘agbles f?rTar :lX;aet:‘i’n'e\:rfttme hypotheising sl

(2) Formulating questions which lead to inquiry
(3) Attempting to explain observations or relationships in terms of some principle
(4) Using the senses to gather information
frefafaa § ¥ B @ e #0 F Fva & Fas @ 82
(1) Feel v & fory < 1 g
@) CEH T IH T T T
@) To fagidl % fawg § sreche stea Tad H e F F T H

@) TG FO & e FE o I

71. Seed dispersal may be said to help the plants in all of the following except :
(1) produce new varieties
(2) over crowding
(3) avoid competition for sunlight, water and minerals

(4) invade new habitats
m—mm%ﬁﬁqﬁﬁaﬁﬁmﬁﬁaﬁmﬁmﬁmn@m%(mﬁﬁ) fqam -

(1) ¥ frel I FA 6

(2) SfEFaa
3) qd#m,aaqa’uﬁsﬁ%mmm%as

(&) U SR # Sl TS W §
. X__is a device which is used to see around corners and is based on the principle of _X__.

72,
X and Y respectively are :
(1) Periscope, dispersion (2) Tel§scope, reﬂect'ion
(3) Kaleidoscope, refraction (4) Periscope, reflection
" o & ot e A 3 e e o o e & o ey gt R stk &1
XY w8
(1) e, yRToH (2) TF (), T
() g, SR (4) e, wERA

Rl LT w T



R o

STy
[P

————

, o
73.  Match the substances in column A with their chemical names in column

(A) (B)
(a) Slakedlime (i) Calcium oxide
(b) Table salt (i) Sodium bicarbonate
(c) Limestone (i) Calcium carbonate
(d) Caustic soda (iv) Calcium hydroxide
(¢)  Quick lime (v) Sodium hydroxide
() Bakingsoda  (vi) Sodium chloride
(1) @-Gv), B)-(v). (©)-(i), (d)-(ii), (©)-() (O-(vD
() (@)-(iv), ()-(vi), (¢)-(iii), (d)-(v), (e)-(1), ()-(i)
(3)  (@)~(vi), ®)-(ii), (c)-(v), (d)-(i), ()~ (O-(1V)
(4)  (@)-(), (b)-(vi), (©)-(ii), (d)-(v), (¢)-(id), (-(iv)
Wﬁﬁnmmmmsﬁmmmmwasmugwm:
(A) (B)
(a) TS () Fiewam sifaEs
(b) I TEH (i) T aAEFEAL
() IR (i) FfewTm FEHE
(d) wRewdE  (v) HioaTw WwHFES
(@) frmmgm  (v) Wi TS
( AT EE (@) (vi) wifeTm FANTES
(1)  (@-@v), ®}v), (©)-(id), (d)-G), (e)-(), (£)-(vi)
(2)  @-(iv), (b)-(vi), ()i, (d)-(v), (e)-(i). (F)-(ii)
(3)  (@)-(vi), ®)-(), (c)-(v), (d)-(). (e)-iid), (B)-(iv)
@)  (@-@), ®)-(vi), ()-(), (d)-(v), (e)-(i), (B)-(iv)

74.

The difference between maximum and minimum resistance that can be obtained by connecti

: 1
three resistances of 3 Q eachis:

1 2 8
® 59 @ 3 ¢ 3o @ 10
. 1
MWWW#WW%WWEQ%WMH%WQ;WWE'}WM
§a@e:
1 2 8
@ g% @ 30 @) 39 @ 10

- p (OOIGIGIONANG 28 &




76.

Gl A

(d) Sulphurdioxide (g
M @Dand©) Q) @andp (@) Mand© @ () and (d)

m @M @ @mep @ OFO @ @I

Read the following statements carefully and select the correct option.
Assertion (A) : The stars in the night sky appear to move from east to west.
Reason (R) :  The earth rotates from west to east.

(1) (A) and (R) are both incorrect.

(2) (A) and (R) are both correct and (R) is the correct explanation for (A).
(3) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(4) (A) is correct but (R) is incorrect.

frafafaa w9+l &1 g vfen a0 |/ fases &1 997 FifSw)

AR (A) : T R H 9 g6 A ufvaw @1 SR T a8

@ (R): 9o ufvem @ @ feen 4 9o F@t 81

(1)  (A) 3R (R) S 7Tera €1

2) (A) 3R (R) 2 W & TN (R), (A) F1 FE =@ L

(3)  (A) 3R (R) A & ¥ 7 (R), (A) F1 FE = T 2

@) () ¥H T (R) TR E

Identify the set of micronutrients (nutrients required by plants in small quantities) :

(1) Zinc, Iron, Manganese (2) Potassium, Magnesium, Copper

(3) Copper, Phosphorous, Calcium () Sulphur, Aluminium, Chlorine

freffiga § @ wRY (99) QT AR F = (7Y W d wedi g snifen deE) ) e

Wi :

() ftw (), we, FES (2) RfeEm, dreifaam, dia
(3) i, whePRE, FHea (4) TR, Wfafrm, FHe
29 P



78.

79.

80.

p-i1 [AOGIOIGIIOONING 30

—
s

fill the blankg

; . -h would correctly

Read the follow; 4 select the option which

i - "ollowing paragraph carefully and € .

Smothe given order. S d » ic vibrating parts.
und is produced by vibration and different musica. - " the stretched membrane tha

a_X the sound?;, I‘J,ll'odauczl; by stretched strings, 1IN a '-xa_-isitt;lse air column.

vibrates and ina __ 7 the vibrating part that produces soun

xl Y and Z can r. : '
espectively be : ;
(1)  ektara, violin, piano (2) sitar, harmoniun dl.‘olak

(3) dholak, ekta;;, mouth °;gm£%¥;uﬂ’wmﬁ g wr A R T F F Ry
I W ' & sy i A g
P 0 g e @t & e fe- o e A e e AR E1_X 7 2 T
Wﬁ?h%,_x_ﬁmﬁafmh%shwm%m—z—ﬁmmmmw Bt
(Hfem) %1

XYARZEmo: dawa &

(1) aw, awfer, fam (2 Fow, T, e

(3) 2T, THA, gE-TE (4) firem, T, e

instruments have 8

A teacher, while teaching the chapter ‘Body Movements’ to class VI students shows the following
images to her students : .

A sailing boat, swimming fish and a flying aeroplane. She then asks the stud'ents to reflect on the
shape of the images and the manner of movement. Which of the following are likely to be employed
by students in answeringhpexams.in

(a) Classifying (b) Observing () Inductive reasoning (d) Measuring

(1) (a) and (d) (2) (a)and (b) (3) (b)and (c) (4) (c) and (d)

T fofae 293 wan vI & faanfdal /) ‘wiR ¥ nfq’ e yen wug Freafataa wfafaa feamd
®:

STl IR A, Al Fol SR T IS T oI | qE aquvaa foenfedl s wfafernsi @Y st @
¥ R H wfafafisa FE & fag Fed 1 IR 3 F fog foenfdd g fra § ¥ feaen dwifg w99
Frafsa feran sram ?

(a) SR (b) SAEEHHA (c) SWTAIeTh ThRAtE  (d)  HIOH
1) (a) AR () @ @IG; @) @) M( @ (o sk

Identify the correct statements from the following :
(a) Generally non-metals do not react with water.
(b) Generally non-metals do not react with acids,

(1) Neither (@) nor (b))  (2) Only (a) (3) Only (b)
Frefafaa 8 9 A FUA At wE9H Fig

@) MR g SIS % WY AR w1 5@

(b) m:mawﬁ%mmﬁmqﬁm,

@ TR@IAED) 2 ¥4 (a) @) )

(4) Both (a) and (b)

4) (a) 3R (p) O
P



8 X and Y are thick, black li
' eum and Y ig

quids which can be used for metalling the roads. X is derived from

etrol is derj
ge i ®rived from coal, Which of the following can X and Y respectively
() Coal Tar Bitumen (2) Bitumen, Coal Tar
3) Coal Tar, Charcoa] ) Bitumen,

(4) Charcoal, Bitumen
X%?m?%mm“gﬁﬁmm% fopenr o W 1 X e & e AW
Y QE lﬁwmaﬁﬁmmm;xsﬂfi 2 Tehdl & 7

Hiear, fagiq
(;) FIAAR, TR @) fn %’a:an
@) ’ (Frs-wmam)  (g) m@e-m), faga

g2, Consider the test item given below an d match the f Eﬁ%ﬂg :
J

Column - A Column - B R
Unit of force Joule .
Symbol of iron HC1 N
Formula of hydrochloric acid Ag -
Unit of work —ili|—
Symbol of silver Calorie
Symbol of battery Fe

Newton
Which of the following is not a reason that can be given to justify that the item is poorly
constructed ? £
(1) There is inconsistency among entries :;

(2) For an entry in column A there are at the most“;tzv:o plausible entries in column B
(3) There are unequal entries in column A and B ==

(4) The matching pairs can be easily guessed :‘”15
3 & T vdeo arwh W fEr Fifag qo freEfafe srghe Hi
FEH - A wieW - B -
Ta F T (AH) @ .
oire 1 far HCl
B EIeh 3 1 A Ag
@ F 5w (mw) —l|—
i w1 fae e
3= 1 fa Fe
Gl o0
wmmma;mﬁ;mﬁﬂ-ﬁwﬁné@mﬁwﬁ#@aﬁﬁmmmﬁmm
THAT 7 o i 0N
1) wafedi § (% 9 H) ]
:2: quﬁ(ﬁmwﬁfe*m*ﬁ“Bﬁa‘Wgwmﬁ
3) mAmBﬁmﬁﬂﬁmg =J
@ m@wﬂmgmmmmg
N
31 P
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(1) (A) is incorrect but (R) is correct
(2)  (A) and (R) are both correct and (R) is thecgrect explanation for (A)-

3 wwmmmWMms@%c«mm‘“W

(4)  (A) is correct but (R) is incorrect.

Profofan a3 ofgn o wlt faees = o Fif9C:

fvmam (a) .
Wﬁmﬁmpmtﬂnw&mi{whwﬁwmtmwmh
whi (R) : P
mm‘ﬂimutmmﬁmm

(1) (A) ™o & o () w0 ¢ ™~

(2)  (A) ST (R) S W ¥ v (R), (A) 9 W g £

3) (Mﬁm“w'“(uwﬂd(&mh

(@) (A) =@ & oGy (R) e b

84. A body has a linear momentum of p and a mass of m. Thckinetkmrsyoflhvbody

e "-‘\\!
P

(1 pm @ pm W~ 4 P
) 2m

‘Mﬂw*pﬂm(*ﬁ)-h!‘?ﬁ"?

-

m = B e A Prim (4)-223
P SRR EEOE 2 oy



(1) Fertilisers increase the number of fri . N
() Fertilisers are richer ; of friendly microbes in soil
- T In specific nutrients as compared to manure
3) Fertilisers enhance
Pertili ; e water holding capacity of the soil
(4) Fertilisers provide a lot of humuys to the soil

ﬁﬂﬁﬂf’@ﬂﬁﬂﬂﬁﬂmjgmw%ﬁ?

() S 8T P Sheeh o v o o @ o &
@) R T S T ot 5 ol o o 6 €
(3) S T R SR sy g e €

() T R TR R A v v Ak €

g6. Read the following statements carefully and select the correct option.
61: Rayon is a synthetic fibre.
62 : Rayon is made without using any natural raw material.
(1) Both S1 and S2 are false (2) Both S1 and S2 are true
(3) Sl is true and S2 is false (4) Sl is false and S2 is true
frefataa FoFl S SFEE iy aun Wit fked i 99 HIWT :
51: Y4t T uivee ag 2|
2 Wﬁmwmﬁm%m%mm%l
(1) 19523 e € 2) s1as2dq ¥

(@) S1wé ¥ iRs2TeE e @ 172w

87, Which of the following is not desirable with respect to carrying out of a classroom demonstration

by a teacher ?
(1) Follow up the demonstration with discussion

(2) Rehearse the demonstration before carrying it out in class
(3) Emphasise beforehand the linkages that students are required to make

(4) Supplement the demonstration with explanations
mﬂﬁﬁﬁﬂmﬁmmmﬁmﬁhﬁmw#ﬁﬂﬁmqﬁm
(1) Rt & w ved AT B

Q) i wO @ T I IACFC

@) mﬁammﬁ(aﬁ&ﬁ)mm%ﬂﬁwﬁﬁwmfmﬁﬁtmm%
W) e ) el & 9w (T D

‘P, 33
EIU | QQpmEamaNE P



88. mdhhwmmmwmm-wMW?
(1) Sdmﬁmmopmmedmdwﬂmgwmodifymm )
@ Sde“ﬁ“si“dgethevalidityofaclaimbaﬂe‘iO“Obie‘:ﬁ"eempiﬁcalevldence
() Science is purely inductive in nature
(4)  Scientists do not trust the findings of other scientists
Preien 3 9 s = 4 g g 1 e 2 &' e R o I 82
(1) ﬂmmmm@agmmﬁaﬁﬁmmﬁﬁﬁg
(2) Prvafres sy e 3 SR w AR TR 9 g A S €
(@) foa wafa § yz v A amEeE ©
@) AFF g () A & Sa-aRomi R R T @ ©

89. Which of the following statements regarding rusting of iron are true ?
(@) It involves a chemical reaction between iron and oxygen.
(b) It is an exothermic reaction.
() It can take place at room temperature.
(d) It is reversible reaction.
(1) (@), () and(c) (2) () () () (3) (b)and () (4) (a) and (d)
mﬁﬁﬂﬁﬂﬁwaﬁﬁﬁiﬂaﬁ%ﬁuﬁﬂﬁﬁ?
(a) TE I (SIR) i sffeiem & <ia T sfufran 5 wive &t R
(b) U8 TH T afufem @
(c) % UM Y (FIS-TN) WA FFal B
(d) I® Ierwoa sl 21

1) @O®M3WE© @ @O6.@ @) p3ReE @) (a) 2R (d)

90. Whlchof&lefonowingisasetofanixx\alsmm\ichallshowextenmlfenmzaﬁon?

(1) Frogs, fish, starfish (2) Hens, lizards, butterflies
(3) Lizards, butterflies, frogs (4) Butterflies, frogs, fish
mﬁamﬂﬁmmﬂamt@wa@ﬁm@mg?
a A, wodll, €hirs (2) pff, fouseh, famsit

@) fouaen, faaeh, des (9) foaed, fizw, wod

_p-11 (OOMOIIEND 34



| tes have to do quest; ’"Po"m / m!"f-
condtidates FE° o o8 3L to 90 EITHER from Part - I (Mathematics and Science) OR from
w2 o (soaql Studies / Socig] g cletice) IR from
acrifl @1 WOT 31 W90 77 7 )

Lﬁ/ﬁliw?' I - I (nfore & frr ) A WET - 101 ( Tl Srerae/ auted

PART - 181 / 9131 - 11
§0CIAL STUDIES / SoCIAL ScIENCE - WIS 3reade | rnfors R

%ﬂ?ﬂ; g“’"’mg uestions by selecting the correct/most appropriate options.
R : . T & & R1Y il et swge e IR
i1, Our solar family consists of following celestial bodies :

(1) Planets, Satellites, Asteroids, Saptarishi

(2) Constellations, Planets, Sun

) Satellites, Planets, Pole star

(4) Sun, Planets, Satellites, Astercids, Meteroites

7 WR TRER Frefafen el fisi e d

(1) W8, SR, FoUR, Uiy

() TeEH, 7T, g4

() TR, U, Y T

@ T, TR, SR, YEUR, Sl

32. Which of the following ideas~was questioned by people from the seventh century
onwards ? '

(1) Secial privileges are a result of one’s birth.

(2) Only human beings pass through countless cycles of births.
(3) All human beings are equal at the time of birth.

(4) One could break the cycle of rebirth through personal effort.

i A F Wiw | Frefafea § § e frem w a3 wera sarm ¥E W fean?
(1) wmf iR fe = o= 5 R &

() e wEE SR S % SHa T A TR

@ it e o= ¥ T S AR E

(@) e v ¥ TS ¥ T QG T o W

3. ‘Periyapuranan’, a Tamil work informs us about whom ?
() Soldiers and military generals  (2) Kings and queens
(3) Scholars and poets (4) Ordinary men and women
W, e e w4 o AR g & 47
(1) R ok da-oe FaRA - (2) el SR sl & iR d
@ fogr ol SRl F WA (4) S i SR wfieenedi &

$ | 35
ol T ’



e e boak Stripurushtulna’ was written by which one of the following sefiriie
Q) EV. Ramaswamy Naicker (Periyar) () Pandit2 Ra.m:bm
©)  Veerasalingam Pantul (4) Tarabai Sh':ﬁ‘;g o0t 2
' T e ) T et 3§ & R I 8 ’
1) <4 TR e (IRER) A7) e Wﬁrg
®)  MMufim gy @) R i
35. Railway network is now extensively being built in mountainous areas. Select the most Suitab),

reason.

(1) There are advanced technological developments to enable it.

(2) It is easy to construct railways in mountains.

(3)  Mountains are highly eroded.

(4)  Mountain people are making railways.

TSt & o 9 Yot w1 faga Fmfo @ @ R il STEH R I T I
R v FY ¥ forn 3 Shehfir @ T g R

(2) I ¥ Yemwil s Fmtor st 2 €

(@) oS HRI-afyw ¥

(4) = S e Sam R

36. Read the assertion (A) and reason (R) carefully :
Assertion (A) :

Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the President
of INC.

Reason (R) :

He was a businessman and publicist settled in London and for sometime a member of the British
Parliament.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)
(4) (A) is true but (R) is false

ARTHGT (A) T HIT (R) F 21 J T
YT (A) :
mm,snﬁmw@am%agﬁm,w«ﬂmmm%maﬁw
&HRUT (R) :
@t IR TEE 1 I F@T F W@ 4 sin T % [
s 8 o Perre ELd fow fofew var % wew ot @
(1) (A) e € foheg (R) W&t
2) 2 (A) T (R) T T4 (R), (A) 9 =men e &
@) 2 (A) T R) T EFYR), (A) 3 wmem 78 a
@ (A) T& & fg (R) 7w |

po11 AOOIEIDRIEENNE 36 p



which of following two £A5e8 male

up the bulk of the Atmosphere ?
(1) Ozone and Helium

(2)  Nitrogen and Hydrogen

() Carbondioxide and Oxygen (4) Nitrogen and Oxygen
o

fmhﬁzaﬁﬁmmafwmmmemgm i
1) i s diferm @y AT S T
0) FA BSTRIE e SAierfrsr @) WWW

' e
™ |
4

38, The true representative model of oy Earth is :

(1) Globe (2)  Map (3) Satellite image (4) Rugby ball
gt Yot 1 arafad frees ufiey
@y T (2) wHfag @) ImedwEfa (4) v AR

39, The F.’hild Marriage Restraint Act was passed in 1929. Acé&ding to this Act, what was the respective
minimum age approved for marriage, for men and women ?
(1) 17 years and 15 years (2 20 yearé and 18 years
(3) 18 years and 16 years (4) 21 yearg axid 18 years

1929 8 a1 faame fray sfuf=m ofw fem ) maﬁ:ﬁm%mwwm%mmaﬁ
A A Fwaa: feat Tt 78 ?

(1) 1794 a4 15 =4 (2) zoaﬁam‘saﬁ
(3) 18 94 @41 16 Y &) 2194 a9 18 94

40. The earliest evidence of growing crops like wheat and barley are located in which one of the
following places ? Choose the correct option. :

(1) Nilgiri hills (2) Garo hxlfs

(3) Malabar hills (4) Sulaima:;a@d Kirthar hills

8 v A T e P 3 7 fre 0 g
() e foew @ mifem

(3 e e @) T o e e

™1 BTN 37 P



e | inds blow ?
- #1: Winds blow dry leaves down the pavement. How do win

(1) Movement of plants and animals.
(2) Movement of air from high pressure area to low p

3) Movement of air from low pressure area %h pressure areas.
(4) Movement of condensed ais. iy

T e W gl vl @ wedt 1 v H9EL R

(1) el o Sfra-igedt 1t |

Gy ¥ T &1 Y Frer v 7 ol g 8 TR

B‘_‘g“"

ressure area.

By fEw éﬂﬁmmmaﬁaﬂzmﬁaﬁm
(@) wutw g ) vfn A

42. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) : . .
In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people.
Reason (R) : o0
In 1966, the state of Punjab was also divided inte two States Punjab for Punjabi speakers and
Haryana for Haryanavi or Hindi speakers. e
Choose the correct option of the following : _;-_ﬁ
(1)  (A) is false but (R) is true P

(2) Both (A) and (R) are true and (R) expla%
(3)  Both (A) and (R) are true but (R) does notexplain (4)

(4) (A) is true but (R) is false g\ W
AIUFHGT (A) T FHROT (R) R oA A 93
R GT (A) : |
,19mﬁﬁwwmaa%mahmmmtmaW_Wwﬁqh"ml
&HRUT (R) :

ot i
Eaibshib M'WE}W*WWMWWNW
Prafafeaa § ¥ wlt faewe 97 I
ay (A) T § R (R) W& =

2) T (A) T (R) T F 7 (R), (4) i e 3T

@) (A) F@ T g (R) o)

“p-11 | NN NG | &



‘3 "f:;e Eapgenital diSeasesfrom one person to another through water, food, air etc. are called as::
S (2) Genetic diseases

| (3) : «Communicable diseases ( 4) Acq uired diseases

o el T S R SR e ) - e, o, g g A et
1) mmﬁa%' ) mﬁmmﬂaﬁl

N gy S S e @) s s

Read the statements (A) and (B) carefully :

@) In 1770, a terx:ible famine killed ten million people in Bengal.
(B): About one-third of the population was wiped out.

Choose the correct option of the following :

(1) (A)is false but (B) is true (2) Both (A) and (B) are true
(3) Both (A) and (B) are false (4) (A) is true but (B) is false
FoFl (A) T1 (B) 1 SAH A 13

(a): 1770 ® STE H TF YAMSF HIA I T T HAS Al bl AR S |
(B): T FHE A ST F H-fored o) @ A

(1) (A)7e & g (B) W& (2) < (A) @ (B) W& ¥
(3 i (A) T (B) T € @) (A) ¥ 2 foreg (B) T

45. Which of the following statements help in sustainable development with reference to present day
resource availability ?
(a) Reducing consumption of resources
(b) Increasing resource use
(c) Recycling resources
(d) Reusing things
Choose the correct options :

1) () ®), (@ @ (@) () (@) (3) (@), (). (c) 4 () (c) (d)
mmﬁ@m.mmmﬁm%mm%#ﬁ#mqmﬂvﬁaﬁmﬁm
A R?
(a) WA 1 TUQ I T

) FnA % S A TS

o) dmmEl & I w0

Ud) gell T S

Wt e w1 <A T

S0 @e@ P @ ©. @

T

3) (@, (b)) 4 () () (d)

39 P



4,

() The basin arva has » varied topography.
kaw h <correct ‘wm ;

M fa) © @ D @) m), © (M M) (), @ @ (@, ®). @
WMGm-wmmmmMWmmmﬂm

(8) T8 W A vigwh w1

®) e Ay ydve o foom ¢

«) NhﬂMWmt'

() e @ ¥ ol a9 et 1)

\Qﬁmnmnﬁml

W @@ F (@) ®),(© (3) () (). (d) 4) (a), (b). (d)

Tormd Zone on Earth receives maximurm heat as :

(1) rays of the sun are slanting here

() itis land locked

(3) itis bounded by oceans

(4) the mid-day sun is exactly overhead

T W T wfewdiy @y wed sifuw 0 gra vl § wilfs
(1) =l gd =it fod favah ot &

) wwruEEg

(3) =wEwwErd A fEdd

W T iTfmEsudmt

Read the statements (A) and (B) carefully :

(A) : The Veda Samaj was established in Madras in 1864.
(B) : It was inspired by the Arya Samaj.
Choose the correct option :

(1) (A) is false but (B) is true (2)  Both (A) and (B) are true
(3) Both (A) and (B) are false (4)  (A) is true but (B) is false
FoA (A) 791 (B) ¥ A @ 9

(A) : “F% AR’ H W 1864 H werw F g
(B) : Az wara, 4 waTE ] UfE o1

fpafefoa 4 & vl fawes 91
1) ()T & g (B) weh J2) I (A) 7o (B) W ¥
@) 2 (A) 7 (B) T ¥ (4)  (A) W  fomg (B) o)

FIRE 8 R

g “ 4 s i 2 r 1 ’

A e e L s - :

RN Bl e wfnd =5 an = g L 2. 8ty
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50.

R
L L
)
A ‘hllt
3= 4
'

*

Read the statements (A) ang (B) car efully : : : o BRS *,,,,:'
(A): m]tii7i1ia§l}e?dmpubumdlA] . OfBﬁﬁﬂhh\dja’ in three volumes. R A
(B) : In Vided Indian hishm-y into three Peﬁodg - Ancient, Medieval and Modem.:

Choose the correct option of the following :

(3) Both (A) and (B) are false (4) (A)is true but (B) is false

e, (A) T (B) R I E 6

(A) : 3 B R 1817 % ' Rt it e feen’ it vl & e fomen |
(B) : T SR RS TR 9 el - i, e o sy H e ¥

prefafea § @ Wt feew ¥

@ (&) T ¥ g 8) wdh @ 3 (a) 7 (B) T &1

@ S (A) T (B) T ¥ @ (A) W & g (B) TR

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

Tribes have rich and unique cultural traditions including their own language and music etc.
Reason (R) : '

Land, forests, grasslands and water are regarded as the wealth of the entire tribe and everybody
shares and uses these together.

Choose the correct option of the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explains (A)

(4) (A) is true but (R) is false

ARG (A) T HROT (R) I &H J G :

AfH&HIT (A) :

SR 3% Wi T, o SR T qen Wi it wnfirer & wiga WS e fafire 3 )
&R (R) :

W,W,W#WWﬂtﬁﬁﬁmmmﬁl e 39 B U Y e
(1

Freaferfian & & Wt forened 9 ¢

1) (A) T & g (R) ¥

2 ﬁ#f(A)qﬁ(R)aﬁ%am(R),(A)ﬁmm%n

3) M(A)qé(n)aﬁ%m(R),(A)aﬁmﬁﬁm|

@ (a)wh & frg R) ™!

m . 41 e e
LT :



52.

53.

Choose the correct options :

1) @), (), () and (q) @ (@ b)and(©
B3)  ®) (0) and () @ () (b)and ()

¥ RO v 7 S frea oft 7 T

(a) sirifers Tty () it FEE

(c) uHF vH (d) ST EEAn

W e =1 e wifg)
B~ @), ®), () 3R () @ (. b AR
() ) (c) 3R (d) @ (a), () AR@)

Which one of the following is not true regarding Hindustan Socialist Republican Association (HSRA),

Choose the correct option : :
(1) Members of the HSRA assassinated Saunders, a police officer.
(2) Bhagat Singh and his comrades founded this organisation.
(3) It was founded in 1928 at Firozeshah Kotla in Delhi.
(4) It was founded in 1928 at Amritsar in Punjab.
g rwfere fiafers TRifauem (TE.09.9mY) % ar § Freafafes 3§ @ SH-w Fo 98 @ 8?2
e e ol
S TEEARY, F W 3 Aied W Ifem AR # e Fit o9t
(2) v e ol 37 wifaerd Wil 3 g8t T it 4t
(3) 1928 # feeelt & Rl Heen § swat wm g

| (4) 1928 & GoE ¥ TR A TR T g

What makes an object or substance a resource ?

(1) Discovery of object (2) Purification
(3) Utility or usability (4) Extraction
w1 i fre STg A TS R W 16§

1 TgRE @ wewm

P-Il mnmmmummn 42



Read the Assertion (A) and Reac

Assertion (A) : Reason (R) carefully : e
dlll'iﬂ SIIal‘ ahan! N . { : . —'~ - -,{ 4 , . Ty ) :

Jt was du & ljlamms reign that the different elements of Mughal architecture were- fased
MIous synthesis. ey o O

Cho:;e ﬁ\:':‘omct o;tl;:fz fmﬁ\ llnfot of consmon activity especially in Agra and Delln.
. e . .
) (A) is false but (R) is trye llowing : 3

(2) Both (A) and (R) are trye ang
() Both (A) and (R) are true but (R) do ol opain (4

(4) (A)is true but (R) is false
AT (A) T FRT(R) N o 9%
HRY (A) - . iy

Q; F N T gen & ARG 7 @ I GO SR § and w)
HIOT (R) :

7% WA ¥ e Fein o aer @, sy w9 @ s aiv feeeh A
frafafea ¥ & v fawey 93 .

(1) (A) e § g (R) W

() 2 (A) T (R) TE & a91 (R), (A) F) =30 B E

B3 (A) W (R) W& & g (R), (A) 3 80 7 e €
@ (A) T & A (R) o) “a

Read the assertion (A) and reason (R) care?%? :
Assertion (A) : i

The Mahalwari settlement for revenue colléction was introduced by Holt Mackenzie.
Reason (R) : o

The charge of collecting the revenue and paying it to the company was given to the village headman,
rather than the Zamindar. R

Choose the correct option of the following ¢ N/

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)

(4) (A) is true but (R) is false

ARwYR (A) T FHROT (R) N &H & TG -
afmem (A)
TR TR ST HETE SR H QR A 3 9 o
WL (R) : —
ma@mmﬂwsﬁqﬂaﬁﬁﬁﬁ&ﬁa%maﬁaﬁwﬁsmm
fraffas § § =t fawed 1 - =]

) (A) e & fR (R) W@ W

@ M(A)qﬁm)uﬁﬁm(k).wﬁwmm

R g aﬁquﬂma@imm.mm?{?wml

b

@) (A) @ ¥ feg (R) T
LT “ R By




6. The prairies are known as ‘Granaries of the World’. Select the conditions that help in production

of surplus wheat in this region.
(a) People do not use technology here. E\ 4
(®)  People are very hardworking here. 5»._%

(c) Smenﬁﬁcme&odsofculhvahonareused%
(d)  There is a lack of rainfall in this region. ¥ J

Choose the correct option : =
() (9) and (d) are correct 2 @ g (b) are correct
(3)  (b) and (c) are correct 4 @ @g} (d) are correct

WS B R T S e £ T8 Wou ¥ Irfus 1 ¥ serea d e RSl #1 e
|

(@) =& < virehfr @ v o 5 )
(b)  TeT & =gm ot 3 3
(©) M A faferdi o1 et i o e

(d) WYY auf 9} FH L [~
(1) (o) 3 () W & O Q (a)?@%’(b)wﬁ%
B ) 3R () W & @ (a)?fz(d)vﬂ%

¢

57. Lines drawn on a globe are known a

(1) They are furrows on earth and indicate Physical features of the earth
(2) To make designs on globe

(3) To locate places on earth

(4) To beautify the globe [ b: l
ﬁmvﬁ@mﬁmmmﬁéimm%' .
(1) 2 9 T gt 5 e i ) 4
(2) A R EHF TN F iy e,

Tt 5 e 9 e 82
g

A T R W R F el <
) TEE B ER TR Qo
p-11 [BOEEEINEENID «
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58 ‘ The atmosphere ig a thin I

the earth ? Yer ofai sursouncing the Barth, What keeps the air o temain around.
1) Gravitationa] f, : TR e e
:3.; Heat of the su:rce ©f moon (2) Gravitational force of the Earth
Y 4) Rocks and oceans on the earth
& i el (
™ " Wﬁw“‘mmm&. T <1 A Y g % AR SR e Wl g ?
(1) IS TR gy 2 o o
(@) T # I !

(4) g W =E 3R TEErR

59. Reasons and Assertiong :
Assertion (A) :

Stereotypes prevent people from doing certain things that they are good at.
Reason (R) :

Stereotypes stop us . . . . ;
o p;’t't’;m. P us from recognizing unique qualities and skills in individuals and fit them into

Choose the correct option :

(1) (A)is false but (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(4) (A) is true but (R) is false

T Sﬁ'( Sfier .

AfrRerT (A)

wfgag YROTE Sl 1 & HM F Y et & ol 3 302§

W (R) :

wgag yromd o =afa 4 oFia i 3R S i 3E | At € a0 IR T €@ wER & @ie § e
gl

uf famey 1 99 ST

(1) (A) 7o & g (R) 9 R

2y (A) 3 (R) 3 TE & 7 (R), (A) F T A R
3) (A) iR (R) 3 W@ & 7 (R), (A) P T =Em W &
@) (A) T § R (R) T € |

£ - 45
P GG SR



) (a) It gmws Wi

61.

62.

P-11

h‘dia and Ban

\ cite. Choose the correct statements that support
‘growth of jut'&gladesh are leading producers of ju

b It 'S well in alluvial soil.
(.;) It requires high temperature.

) @), (c), (d) are ¢ : 2) (a), (b), (c) are correct
e & () (@ are corre ® (), ©, (@ are corre

T AR T () & aoht A € e F 95 W T TEH FA A T H wm
|

(@) =% el et & ored g A Forsifod O B

®) W I AHH ) s o 2

© = T aromm eik e el 5 sravaa O 1

(d) 0 9 a9t sk s 5% sravawa ot 2
@ﬁ?ﬂﬁlwaﬂﬁ{m

M) @) (), (d) v & €2y (@) (), ()T &
G) (@), @), @)@ E @) () TE

Which is the best method to teach the concept of ‘Insolation’ ?
(1) Survey (2) Case study (3) Brain-storming (4) Demonstration
AT Y YR g1 1 T IS ahH B WL ?

(1) wdgo () 9 w&h By~ fear-vm (4) eI
Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) :

The disciplines that make up the social science are history, geography, political science and
economics.

Reason (R) :

There is interrelationship between the disciplines.

(1)  (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explains (A)

(4) (A) is true but (R) is false

i1 RTHYA (A) 791 HROT (R) W =R &t g aft fawes &1 == #ifaw
fima (A) :

feren ferd <t e o =t st € @ € sfer, spive, Terifas famm o s
HIT (R) :

2 fren fadel F sia:dey €1

1) (A)7TeE T (R) § )

Q) (A) 3R (R) I Th T 70 (R), (A) FF =ren e ¥

@) (A) 3T (R) A T T 70 (R), (A) F =S T wwww

(4) (A)aﬁ%m(n)ﬂmﬁl

pOOIEIEmanD 46
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& :
el 1T

Why do elections take place after a fixed time interval in democracy ?
ensure acc ili
(@ To ountability of the government

» T ensure equal politica] Participation by the parties
© To encourage political debate and public dialogue

) It is a customary practice

Choose the correct options :

) (@), (b), (c) and (d) (2 (a), (b) and (c)
@ ® @and 4 (a), (b and (@)
Wa@ﬁﬁmwﬁm%mﬁwaﬁaﬂ%?
(@) TR 1 SHERRE ghfaa st % fag

o T TSI weier gfifee w0 & fog

(@ Terifas IR-T9ER 9o 5 Har = deafea 0 % fQ
(d) TE TH TR afsean ®

& I & =TI HIGT :
" @, (). (©) 3R () 2 (@), (b) I (©
@ ®) (@) @) (), (b) IR ()

»

Which of the following is true about sources ?

(@) They are more concrete in nature

(b) They are all historical in nature

() They are objective

(d) They include accounts of eye witness and personal letters

Choose the correct option :

1) (@) () and (d) (2) (a)and (d) (3) (a) and (b) 4) (). (b) and (c)
i & 3 W Edl IR H 7 €2

(@) & iferer S wHla F A €

b) ¥ ot v TBA F AT E

€ Aagfr=enE
(d) wﬁm&zﬁhﬁ%ﬂ’(ﬂtm‘ﬁaﬂﬂﬁ‘ﬁmﬁ'

W freq &1 59w ST
1) (@), (3k@ @ @ 3R (d) 3) (@) AR (b) @ (@), (b) 3R (o)
47 |



65. Assertion and Reason :
e olved engagement with the

arnin re inv
Open-book exams shift the focus away from rote le g to a mo
textbook.

" t need to prepare for the exam

Open-book exams reduce the burden of gtudents as they don
beforehand.

Choose the correct option :

(1) Only (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(4) Only (A) is true

Aty iR =R

Ao (A)

Teft T e e g @ ge Rl % W ey Tfe e T hEd o ¥
HRUT(R) :

eft e T e R W Sl & it T S ahe 3 dard vew A T S Sl
& faseq &1 w91 Fg)

1) e (R) W R

2y i (A) 9 (R) WEt € a1 (R) W& SATSAT HA € (A) H

(3) i (A) A (R) & T 971 (R), (A) W W& =Hren T F|

(4) Faa (A) W 2

66. Fill in the blahk with correct option.
An alert and vigilant public is necessary for developing a strong

(1) Autocracy (2) Monarchy

(3) Democracy (4) Oligarchy

feaa o %) w8 fawea /WX

wE___ s F % g o ik wem e v €
(1) A 2) T
Ay @ T
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onsider the following aggeq,

g govemment. ent questions (A) and (B) related to the working of the state
debate ? Press conference ? How is it different from a Legislative Assembly

® party and who play th;or;le:e; ft° elected rmé!sentaﬁves who are not members of the ruling
questionin,

Choose the correct option : gvt decisions ?
th (A) and
@ Bo (A) and (B) test factyg) knowledge. 2

.
0 (A) tests conceptual knowledge whereas (B :

knowledge.
e £ ). tests factual
0) (A) actual knowledge whereas (B) tegiioncepmal knowledge.

(9 Both (A) and (B) test conceptual knowledgy i

FETER | o pexams.in
oot W A ﬁ“"“ﬁﬁwﬁmmﬁﬁmmmmﬁamﬁn
(A) : SR N IR BN &2 g e 03 et e @ o X v €2

(B)=:m'“a"""m“ﬁgﬁ“ﬁ*mﬁawwmmmwmamwmmmﬁm

w fawed 1 =99 Fife)
()~ 3 (A) TN (B) TSTH T # st e §0

(2 (A)maﬁﬂhﬁm%m(ﬁmmm
) (A) T T FI e & & T (B) YHpATs I A
@) 3 (A) T (B) W I 9 Wt R

hes

L

i

=0
@ While evaluating social science the following questions will help to understand its
objectives : 'S0

(a) What skills are emphasised in the syllabus ?

() Is it derived from a standard text or combination of texts ?

() How detailed is the outline of syllabus ?

(d) What level of competence is demanded of learner on each social science skill ?
Choose the correct option :

() (a), (b)and (@) (2 (2)and(b) (3), (a) and (d) 4) (a), (b)and ()
o Frg 5 e & AR FreAfenad T S SR W A WG B

@) wommw 3 et A WA R TR
(b) wwm@mmﬂfﬁwwg@#mm

O o % e e g €2 m:ﬁ;a
(d ammaqmmﬁan%m i W QT STt &2

- W e @ w FC o
B @piE@ @ @FO () @I@ @ @ 6N

Rl o P



' '_;'..‘ : 5 e, A | ?
89" Por teaching which of the following topics, a tree chart would be best Bited

m Distribution of demographm variables such as age, gender, race etc

70.

e (2) TOSiVemnnmaryofreignofamler

, revolutions
: (3) To illustrate the hierarchy of historical eve@n a partlcular era, such as wars r or
social movements &
(4)  To teach modemn history =]

Wﬁiﬁaﬁ%ﬁqﬁw%ﬁm%@ﬂ-“%“ﬁ“’

& mﬁnmmmmmaﬁ@wm

() 9% % IR FER 3 ¥ R
Mﬁmmﬁmmﬁgﬁmmmmﬁwﬂw

fam ¥ fem
(4) e sfem vert & fau o
[N
Which of the following is not a characteristic &‘cénhnuous comprehensive evaluation ?

‘a%;’
(1) It focuses on marks based evaluation of student’s work.

i
(2) It makes evaluation an integral part of tg:‘:t%aching-leaming process.
%S
(3) It focuses on all-round development of the child’s personality.

(4) Ttincludes an assessment of scholastic as well as co-scholastic aspects of the students growth.
forifafea & @ HH-1 Haa R 9 i i o @ §2

gy e e % i ST F eaie W BB

2 Wwﬁm‘mmwﬂﬁgﬂm%l

€)) wﬁmﬁﬁmtmﬁﬁmmwﬁh

==.,$‘g
@ mm#mm%mm-Wmﬁmm%u

P-II lﬂﬂlﬂlﬂllﬁlﬂlﬂlﬁlllllﬂ 50 ?



n. Kth dignity and as equals, arceh; the marginalized groups can invoke, to insist that they be treated

(a) Right to Equality

) Cultural and Educationa] Rights

© Right against Exploitation

) Right to Liberty

Choose the correct answerg .

(1) (a) and (d) (2)  (a) and () (3) () and (0 (4) () and (d)

3 AT AR Rt i o ol g w2 @ €, Afn S e o RO SR TR
wqaer fFr g, 3 ¥ .

() TAFE W AR

b) Wi R s sifr

(@ ¥ feg sfver

(d) T 6 AfuER

WG IW 999 Hifo |

M @W@d @2 ()R @ () () @ (o3 (9

2. Which of the following resources/strategies can make a social science classroom
inclusive ?

(1) Encouraging only answers from textbooks.

() Display of stories and photos of people from various communities and regions.
(3) Teaching only dominant views of society.

(4) Avoiding examples from immediate environment.

Fraffag 3 a1 SEAATEIT T S R s o wae e g 32
(1) ¥ao weagee! & S 2 % oY e F

(2 fafi wrem ol 215 3 il ! FErEl SR TR w1 W H

() e g ¥ gy foredl # foEr

@ g & seRl @ w9

Ny - TS
1 U G



_ ?3‘ Mﬁf}' ﬂilkm-‘bnaed‘ ased objective of tenching social sciences from the following options.
S Te acquire knowledge of continents
3)  To understand the cultures of people living in different societies

) T develop an ability to draw a map
4)  To develop a respect for difference and diversity

ﬁwﬁﬁ.mmmmmmamw}waﬁmaﬂu
(1) ToRER W T e won

(2) TR Tl A Tey o il o whepfrdl 9 g

B) T T W) ey fywfaa wEn

(@) AR IRl ¥ R o frwfea wO

74. The statement, ‘The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamental Rights’ infers that :

(a) it protects minorities against possible cultural domination by the majority.
(b) it protects minorities from any discrimination by the majority.

(c) it safeguards minority interests.

(d) it guarantees economic opportunities to minorities.

Choose the correct option :

(1) (@), @) (c) and (d) (2) (a), (b) and (c)

(3) () (c) and (d) (4) (a), (b) and (d)

Fe, ‘Wﬁmmmmmﬁwmmmaﬁm%m%ﬁﬁ
I @ ® 5

(a) wa@aﬁmmmm%mm@aﬁaﬁmmm
(b) FB TEHESHI GRI o e % WeWE ¥ SerHErH = T ww €

(c) e IeTHeTH & Rl W goan w1

(d) I% SATTHEH F AUF Fawd = W g www ¥

wd famed 1 937 FIfT
1 (@) ®) © K@ (2~ (@), b) 3R (o)
@ (), () () 4) (), ®) 3R (4)

prt AOOEIEMITNIE 52 iR
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76.

P
U LT T

T e ek
effect’® © actions of government because of :
(1) Desnocratic values enshrined in Indian Constitution
(2) Supremacy of ]Udlclary in Indig
0) Independence of ludluary in India
@ Judicial activism

ﬁmgﬁ%m;@mtwmwﬁmm%mm#mm
1) ﬂmmﬁmﬁamw

o) RA H AT % el

Q)T | AAEH e

) fas wiwaarR

Identify the 1mmed1ate measures which ensure women's safety and enable them to take up jobs,
support family income and in becoming self-reliant.

(a) Provision of child-care centres

(b) Reservation of seats for women in parliament

(c) Provision of occupational safety

(d) Pick and drop facility for night shifts

Choose the correct option :

(1) () (), (c) and (d) (2) (a) (b) and (c)
() () (c) and (d) 4) (@) (b)and (d)
T e SYMT i Tear R St wfgenel w1 qREN a9 IR AR FH, TR 3 § AR HA
W stnR TR A gffvea & g

(a) acTaTTEAl 1 VAU

(b) weg § wiecnel & ferg el Hi ARE

() wawIfae G 1 UM

@ T e (fire) & g - ST F G

W foen @1 = FIC
& (), @), () 3R () 2 (@) () AR ()
G @) (k) 4 () () 3R (@)

53 P

the rule of law, without any fear or external influence, and mmt‘ains :



Assertion (A) : E villages in India.
Many cases of farmer’s suicides have bee report . ]
— ohLs loans leads 0 distress among armers.

Failure of Monsoons and inability to 7Py

gl)‘ms(:';he :orrect option : -
is false but (R) is true . oct explanation 0

(2) Both , and (R) is the corT o of (A)

©) ot (hyont () o ot () ot the correct P2

(4)  (A) is true but (R) is false

T R A

AR (A)

W%ﬁ%ﬁmﬁ%aﬁm#mﬁﬂimm%l

% (R) : N

Wﬂmmm(m)wqﬁﬁmﬁmﬁﬁg@mmmm

T frren o1 s i .

(1) (A)7Te@ § oog (R) §& 2 |

(2 (A) 3R (R) 3R & & 71 (R), (A) T TS A

(3) (A) 3 (R) 3 T ¥ W (R), (A) F & =S T T

(4) (A) ¥ § g (R) @ R

78. Assertion (A) :
Teaching of social studies is important at the elementary stage.
Reason (R) :
It sensitises the child to social issues and develops in him/her a respect for difference and diversity.
Choose the correct option from the following :
(1) (A) is false but (R) is true
(2) Both (A) and (R) are true and (R) explains (A)
(3) Both (A) and (R) are true but (R) does not explain (A)
(4) (A) is true but (R) is false
AR (A) :
R TR W IS o 1 o e §
@ (R) : .
g 3 I I Al < 90 Wi e & e st foreren e fafern ¥ e T fafa 7
!
fpfafea B ¥ Tl fomes 1 9 Fifg .
(1) (A) TR § T (R) T R
@ (A) IR (R) I TR T T (R), (A) % =m0 2
@) (A) IR (R) TR T TG (R), (A) 3 = =t e &
4) (A)'Hﬁ%ﬁ(k)m%|

prt (BODIDVIOIEIENEELD &



80.

u izi rehensi
:b) Focusing On conceptyy] Clanty, hmorlzmg facts and focus on comp on.
Gkipping certain top; PEXAms.in o
@ fmﬁliarity with thep;:mef{o_m the tea;ﬁook based on exam directives and teacher’s lacks of
choose the correct option ; —_—
0 g:lly 8 :: 8 b‘*j (a), (b) and (c)
o (#-] Oty (b) and (0

e %Wﬁ“*ﬁ?ﬁqmﬁﬂwmm%?
e M*W“thm@mmm

© g&“ﬁmﬁw"‘ 3R e 3 fararerg @ o & FRU TSIGEF F FO ol 1 IS

& faea & =9 Fifwg
@ @ M) B0 @), b) R )
o @ e >3 ) R (0

Many workshops and factories located ﬁusm areas employ casual workers because :
(@) They can hire and fire them accordiig;;o their convenience.

(b) Thgy save on salaries and other job_-b_géeﬁts which are paid to the permanent workers.
() Casual workers work long hours w}@gut demanding overtime wages.

(d) Casual workers are more hard woridng as compared to permanent ones.

Choose the correct option :

1) () ®) () and (d) (2 (a) (b)and

) (). (c) and (d) 4) (a), (b) and (d)

Arifire &5 o Ty +¢ wream 9o eefar o st afieni =) wan s 8, =it -
(@) 33 ool GRIIER T i PrameEen ¥

) amaﬁﬁﬁﬁaﬁmaaaamiﬁmmrmmmmm%.
(© Mﬁﬁmqwﬁﬂﬁﬁﬁiggﬁmwmm%l

(O) o s 2 qee § srarh i G TR 9 €

=]

W fopeq @1 w97 HfC -
Jr @, ), ) R (@ R 5 @ ©) 3 (o
& @), @ sk (@ @ (@), Ob) 3R (@)

B
gL T % p



N . . 1s octi in your class. So,
81, Itli‘s possible that there might be students belonging ':l? oﬁ"’m‘}dﬂ‘e fo‘ﬁﬂswing things should
when you are talking about the noﬁor(?!é?'a’gmahsa

you keep in mind before introducing t2.10pic ?
(@) Taking names of particular commfimities might cause

communities. c*f‘}
(b)  Such issues need to be handled msznsiﬁvity- o
() Some students might feel shame géalkmg about their experiences of discrimination.
(d) Students should be forced to sha@&)eir experiences.
Choose the most appropriate option :
1) @ @)andd) ) @and®) () @and© @) (@) (b)and(©
o dvE & i e e & it T & O i 9, SufT 9 ST ST W e § °1d wE e
W forwa g R gy e Freftiaa § @ R T B S T R ?
(2) T TR 1 AW A W HERI QAT AT SRS HEHH R EH €|
®) ¥ ¥ g i St
(©) B 978 ot e g S AR e g w8
(@ il 2 e v s e 0 e
) T IR foreed o —

g

M @O @ wWTE () @O @ @) 6o

discomfort to those belonging to those

82. Which of the following statements is irrelevant representation of diagnostic evaluation ?

(1)  They are usually followed by remedial classes.

2) They are used for i i i
@) y comparing the éeggmg achievements of all the students in class.
(3) They are conducted during the instructional process,
(4) They help to identify learning difficuities,
ﬁﬂmﬁ#ﬂa—mwﬁmﬁmm%mﬁmaa
()~ T WE: 9 S F a1 e s

@ mmwmwmmﬁmmmm.

A

3) mﬁmﬁm%%ﬁmﬁmgl
(4) WHEAH mmwaﬁwﬁmm%
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s " :,'-?,*.“-k FEte .
roid ¥ " &

At which stage of schog] education | ' :
uoduced to students in toyy ke 2 ON as per NCF 2005, are social science- lnpncs mdepmdeuﬂy‘:._“.; e

Choose the COTTect Option of the foy.
. g
. (2) Primary Stage
() Upper Primary Stage
(4) Secondary Stage

2005 %
GﬁwﬁwﬁmﬁiM%mmmmmﬁtﬁﬂﬁlmmﬂmﬁ

m = = (2 mafaE W
0) F=a TafHF TR P

g4, In Indlat;\\a:emhnsm, the state maintains a “Principled distance” with respect to religion. This

(a) State could interfere in religious matters on the basis of ideals laid out in the Constitution.
(b) State and religion can interfere in each other’s matters.

(c) State and religion cannot transgress each other’s boundaries.

(d) State can regulate religious affairs when need arises.

Choose the correct option :

(1) (c)and (d) (2) (a) and (b) (3) (b)and (d) (4) (a) and (d)
et e &, w5, o ¥ e § uw  gifaw g e TEw ¥ gah Ad ¥
(@) e & fig T SeH 3 SMR R T i wwe § gl e ¢

b) T SR o U e ¥ WE § gE I €

© 9 ol o T qE wY Sl F IEE T A EH €

(d) mq@mmmmammm%.

W faweg 1 977 FA9C:

M) (0 3k () @ (a) D) (3) (b)3M(d) @ (a) A (d)

™ > P
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86.

p-11 [HBGIBIEIGIREUNE

o ¥ ittt T
ethod of social science
What is the advantage of field work as a I

(1) Helps in testing knowledge of the students

(2)  Provides students first hand knowledge .

()  Develops skills of presenting, proposing and arguing

(4)  Helps to memorize facts

e R 8 g 5 el (s o) § A

(1)  Frenfdal & g o # weg @ §)

) o weaw T wew w@

@Y R N, W e ol s ) e e e €
(4) = ¥ AR WY § weg W= T

The distinctiveness of Adivasi societies is attributed to :

(a) prevalence of caste system

(b)  practice of a range of tribal religions distinct from other prevalent religions
(c) distinct language use

(d) presence of little hierarchy

Choose the correct option :

(1) (@), (b), (c) and (d) (2) (a), (b) and (c)
(3) (). (c) and (d) 4) (), (b) and (q)
snfearet wars it faferem w5 dg o d

(a) nfd =Ta%4 F T=rem =Y

(b) iﬂimawaﬁm,mmtmqﬁwwﬁ
(c) Taftre s & wim =
@ - B T Ry
| A H =G By

(1) (@ () © IR (@

@ @), @) ok (c)
@ ), @ @
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. of the following j
Whi —_— 8 18/are features of 2 project work ?
) They provide Opportunity k
to the students to go beyond the textbook:

A project work : _
® Clags- should ideally be done at home so that there is more

time for teaching in

© AU Project helps develop collaborative skills in students.
Choose the MOst appropriate angyer -

n © and (¢) ?) . Only (3 3 @and®)
e 3 -8 Sk o4 ey e &/2
o) T TR ) g 3 o e 2 2

o) S T e ey e g o
) e SR T e e st o R €

8 TR fered T ¢

NGENC () ¥ (a) 0 @3IE @ 3 (o)

4 (3)and(©

Which of the following classroom activities will help students critically look at the role of media in

society ?
(a) Asking students to have a classroom discussion on the topic ‘can the govt.
news from being aired on T.V ? Why might it do so 4

(b) Asking students to bring clippings from different newspapers on the same
comparisons regarding how they have reported it.

prevent certain

issue and make

() Asking students to collect news items they have received in whatsapp groups or through
social media platforms and using them as pedagogic resources.

Choose the correct option :

1) @ band@ @ @and® O (a) and (c) (4) (b)and (c)
ﬁﬂfﬂf@aﬁﬁaﬁw—ﬁmmﬁfaﬁmﬁﬁﬁmﬁﬁﬁmﬁmﬁmﬂmqﬁNMﬁ

TR HUA?
(3) s e e R A e T A @ 3 T €2 &t i 02’ e R S g e

¥ el e |
() m@@mﬂﬂw—wm*mﬁmmaﬂzmﬁmﬁmm

H FE|
9 mgwmmmﬁmﬂﬂﬁmﬁﬁmmmmﬁmmgm
¥ g F |
Wit fararen 1 o L
0wk @ @FO O @@ @ O
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” k Which of the follnw&g stn‘temnm'm wrue about inquiry approach ?
@ Rencourages probiem solving skills

®) 1 hetps find ways to gather and cvalunte evidence.

(c) Teacher decides the pace of learning.

@) Itisa Quick way of learning,

Choose the most appropriate option !

M (@) and ®) @ (@ and © (3) (), ) and (d) (4) (a) () and (d)

TR 3 R - e e e 3y e o w82

@) & wwensl o) ey o sl 9 e s 81

®) T W i e a7 @ o A i w2z w8
©) Rt sfem <) of o) 70 s &)

@) R’ R Y By ot L)
mﬁaﬁmmwml

) (a) i) @ (a3 (o) B) ) () M) @ (a). () 37 (d)

90. Following are some questions/comments that you have received from your students in a class.

Which question reflects the student's ability to critically look at the issue of poverty and
mnequality ?

(1) Why does government give free goods to the poor ?

lazy ?
2 Whyisitthatluxurycarsandbeggarscanbothbeseenatlrafﬁcsi@als?
(3) Why can’t poor people work harder to improve their lives ?
(4) When will India become developed and get rid of poverty ?

ﬁﬂmmmmWw%ﬁwﬁﬁﬁmaﬁﬁl T A IH-w1 v fyeed 3 0
| S F PR R AT ghe B ufififee s g

a mnﬁﬁ@wm.ﬁ%%?WWﬁmwﬁmm?
@ mﬂgﬁmmﬁmmwammmwmmf?

) g @ mwmmtmmmmwwm?
@) e e Farmte 9 SR Tt ¥ e g 2

Won’t it make them

p-1t [HED/ETOEHING 50 | P



PART - IV
LANGUABE . | ; ENGLISH Cond

( SE-I only.
\0 ¢
il the given Passage and angy .. the o
1.

i .%\
we were walking acrogs ghe questions that follow. (91-99)

N o
ed me to i garden whan my daughter spotted a cluster of familiar red flowers.
She P o 1 and then, looking lgcite;l?lat meSP:s though she had a secret to share, she

d )
P“gef?n?s‘le\edol?; Z:‘fn?: lght.and whispered in my ears. I shot up straight almost as soon as she
hgod idea to do so when | With my mouth ajar, | was about to tell her that it was probably not a
E en I was transported to the time when I was around her age.

ara .

2y h:?v:seeh:led :‘1;: ong d.ay from school and [ was dead tired. 1 was walking along the pathway
e he leefunmany 1xora plants when my friend grabbed me by the arm. Before I could do
anyﬂllﬂg; bog t Y plucked 5 single flower from the cluster and showed it to me. Unimpressed,
L i be swayed by a puny flower and was about to admonish him when he turned
te flower upside down to show me a tiny almost invisible thread-like thing that protruded out
from its stalk. =~

,, Hepulled the faint yellowish thread a;?d"ﬁght at the end of it, a tiny drop of nectar appeared. At
least, that was what I think it was, a§'it-was really quite sweet, That day we raided the ixora

plants. We really had a lot of fun. I conistill taste the sweetness till today. My daughter’s urgent
tug brought me back to reality. I turned to my daughterand decided that she too needed to know

the joy of tasting sweet nectar from bea_qﬁful blooms.

—

&
)

g1, 'to be transported in time’ means __ _» .
(1) to take future decisions ) travel backwards
(3) toindulgein time travel (4) recollect memories of the past

b Aog

92, Identify the parts of speech of the underlined words.
| was transported to the time when I was around her age.

(1) noun, adverb ' @J noun, verb
(3) adjective, preposition /+(4) noun, preposition

’

8. ‘I was about to admonish him .....

The underlined word can be replaced 1_:)7 the word -

1) cajole (2) appreciate™ (3) reprimand  (4) refuse
LY

OC
%, From the given anecdote, one can assume that the 2 characters shared the relationship of :

(1) grandmother and grand-child (2) best friends
(%) mother and daughter (4) school-mates

™ g

temp} guestions from Part-TV (Q-No. 91-120), i they hav'é‘ﬂd ;2




- 95,

96.

97‘

98.

99.

Read the followi :

@) The Wl'iteru;sgh'sﬁnu:\r;;e:e& by the memories of her c.l-uldhuud. ool days.
() The doughter's secret b rings back nosfalgic memories of the sc s of nature.
() The writer wants her child to be connected to the sweet i

(1) (b) and (c) are correct, (a) is incorrect p

(2)  (a) and () are correct, (b) is incorrect ™

(3)  (b) and () are incorrect, (a) is correct “\"“}

(4)  (a) and (b) are correct, (c) is incorrect{ o]

In para 1, according to the mother it was not “%‘wd idea to:
(1) walk along the pathway alonc o

(2)  taste sweet nectar from flowers I\

(3) raid the ixora plants

4)  walk in the garden the whole day long

Read the following sentences :

Assertion (A) :

The child was excited to share a secret with her mother.

Reason (R) :

The mother was in disbelief and went down niémory lane.

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  (A) is correct, but (R) is incorrect foo

(3) Both (A) and (R) are correct .

(#) Both (A) and (R) are true, but (R) is n6t-the correct explanation of (A)
Complete the word analogy : N
cluster : bunch : : puny : 2

(1) long-stalked  (2) delicate “(8) colourful (4) prickly
‘To be dead tired” does not mean - -

(1) to feel refreshed (2) to feel too tired to walk

(3) to be exhausted (4) to be completely exhausted

Read the given extract and answer the questions that follow. (100-105)
My tea is nearly ready and the sun has left the sky;

Its time to take the window to see Leerie going by;

For every night at tea time and before you take yoyr:seat,

With lantern and with ladder he comes posting ﬁﬁ‘fi\e street.

3

Now Tom would be a driver and .Maria may go tq.the sea;
And my papa’s a banker and as rich as he can bé;r“;
But I, when I'm stronger and choose what I'm to do,
O Leerie, I'll go around at night and light the lamipg with you

For we are very lucky, with a lamp before the dod;. |

An

Leerie stops to light it as hg lights so many marg;
Anﬁll O ! Before you hurry by with ladder and wx,tQ 5-ght’
O Leerie, see a

little child and nod to him tonight'!*

100. Identify the rhyme scheme in lines 5 - 8,

(1) aaba (2) abba (3) aabb 4)

abab

p11 (QOOIIEIDODIND 62



" @) Leamer's judgment that the knowledge of the native language interferes in the learning of -

102

103.

104.

105.

106'

107,

%o K G 4
s
EASE VTS

e phrase, “the sun has Jog the

| : . sky’ indicates that -
(1) it1s evemng tune (2)

itis morning  (3) itis forenoon

Why does the poet consider himself to be fortunate ?

(1) He 18 stron.g and doesn’t have to make a choice in life.
@ He has a rich banker father.

(3) He does::l t have to light other peoples’ doors.

( 4) He has hght at night by his dmr.

Read the following sentences

(a) The poet occasionally has a light outside his door.

(p) The poet wants to be a banker like his father when he grows up.
() The poet is fascinated by the lamp lighter’s profession.

(1) (a) and (b) are correct, (c) is incorrect

(2) (a) and (c) are correct, (b) is incorrect

3 () and (c) are correct, (a) is incorrect

@ (@ and (b) are incorrect, (c) is correct

The poet looks at the lamp-lighter’s profession with -
(1) confusion (2) wonder (3) jealousy (4) curiosity

With reference to the poem, complete the word analogy :
Leerie : lamplighter : : father: 2

(1) banker (2) rich businessman
(3) driver (4) sailor

A teacher at the secondary stage gives a text/short story and asks them to read and discuss the
meaning and ideas of the text from the point of view of power and justice. What does the teacher

attempt to develop in the learners ?
(1) Higher order language skills (2) Ciritical literacy skills
(3) Critical pedagogy (4) Critical language development

What is ‘interlingual identification’ ?
(1) Learner's understanding that learning of different languages warrants different abilities.
() Learner's judgment that something in the native language and something in the target

language are similar. o .
(3) Learner's judgment that something in the native language and something in the target

language are dissimilar.
| second language:
R
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109,

110,

111.

112,

113.

P-II

Alangy, . 4 _ ers to work in
: JRage teac d asks learn lass
I““B\lnavs kn*:ehewn:gu&.:m;n m t‘l‘x‘e‘ common language of the ¢
@) Strategy known as ?

9ge acquisition (2) Trarslanguaging
) ) Mul al licy @) Multilanguage tea 24

grou to tell the story-i,
2 room. What jg ﬂﬂ.:

A to ch the pairs are given a story of
senh:gef;. Ofoc.:-.hss VII conducts a pair work activity in whi .

y sentences and the other in the pair writes thy
Sentence, e: ;‘:htel:“{np?l:um?:rs ::;3 t::xtf:::;tnnd sentence and the tfli1mt lcx;ntml;f m?eatl; ;?:?; the
SQFOHd Sentence, Likowise thf pairs complete the whole story. Late; ey ting
Qe original text given to them. What is this activity known as
3 Mutual Dictation (2) Mutual Writing

3)  Mutual Listening (4) Sentence Dictation

i learner reads through the news item in the newspaper to know specific information. Th;g
reading is known as .

) Study skill (2) Critical reading (3) Skimming (4) Scanning

Procedural knowledge in the teaching-learning grammar is
) knowing the language and its culture.

) knowing how to do the grammatical item.

(3)  knowledge about the grammatical item.

(1) knowing the rules of the grammatical item.

ShreyaisaClassVIleanterwhomavmfxon\meIalandermPm-ljabboMaduraiinTanlﬂNaduas
her father has been transferred. - She knows Punjabi as her mother tongue and English language

she studies as her second language in school. She is able to speak and read Tamil learning from her
neighbourhood. Which one of the following statements is true based

on the languages she now
knows ?
(1) Her English comes under language acquisition and Punjabi and Tamil come under language
learning.
(2) Her Punjabi and Tamil come under language acquisition and English comes under language
learning.
(3) Her Tamil comes under language acquisition and English and Punjabi come under language
learning.

(4) All the three languages, Punjabi, Tamil and English under language learning.

diff t h!‘guages (2) No v .
(1) They are tv.vo oren o o0 y
3) Regional dialect of Malayalam A s - .l >
T Lol e L G Malayalam :



ks
aich one of the fouowin >
“qh ' Mother tongue /homi 1S true of the three language formula ?

! (1) Mother tongue/hop, language/ English as the first language.

e ~‘“1‘  g Engli'ﬂh/ Hi“di/home la.nguage/ regional language as t?\e first lapguage.
o Mother tongue/home languagE/ local language as the first language.
8uage/Hindi as the first language.
ST ing learning ta i _
4 pallowlng E aak was 8lVen to learners in different groups. Find out what is this vocabulary

earning activity known a5,
. words and hras .
Fmd P €s Wthh relate to the followmg words.
@) xorj V;lebt (2) Thematic Vocabulary
(3 Word clusters (1) Cluster Vocabulary
116. A method of teaching in which a teacher and four students form a collaborative learning gr0u1;

with.different roles. D?alogues occur on the content of the text passage, which creates a zone 0
roximal development in which reading comprehension improves. This method is referred to as :

(1) Model Reading (2) Grammar Translation Method
(3) Reciprocal Teaching (4) Structural Approach

117. The language we use for day-to-day, face-to-face interaction is known as :
(1) Interpersonal language proficiency
(2) Cognitive Academic Language Proficiency (CALP)
(3) Basic Interpersonal Communication Skills (BICS)
(4) Communicative language skills

118. Remedial teaching is for :
(1) learners and teachers to enhance the scores in the examination in language paper.

(2) learners who need attention on certain aspects of language learning,
(3) teachers who need to modify their teaching’ for certain student to learn the language.

(&) learners and teachers to understand and modify/improve their teaching/learning strategies.

119, Which of the following is NOT true of Sign Language ?
() Sign language has a grammar.
(2) Sign language has many varieties.
() Sign language is a natural language:
(4) Sign language does not have a grammar.
.lzﬂ- Which of the following is NOT the purposé of EXtETISive reading ?
(2) Readmg fOl' appredaﬁon

. () Reading for pleasure
oy g for plea _ ;
. B)  Reading for extrapolation (4) Reading for learning grammar

" WG ey
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PART -V
: H
LANGUAGE - I! 4 sENGI.IS

-150), if they
IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121 ) ﬁ'

have opted for ENGLISH as LANGUAGE-II only.

1.

w

121.

122.

123.

‘.g; () = (@) > (@) = (b)

]

Read the given Passage and answer the questions;that follow, (121-128) erratic seasonality is, by

The loss in earnings that farmers see due to extreme weath?r events or ere the first
now, accepted as the most widely felt economic impact of climate change. F ;mc‘zrtfn‘z'y' s overall
People to feel the impacts of climate change, which “lt““‘f‘tel)’ _affe‘:ts ' el d result in people
agricultural output and adds to food inflation. High food prices, in turn, cou

slashing down consumption, which adversely impacts nutritional security. tion. These
A significant number of farming households produce food for their own consull'lfl :ltl.\iest. o
households have given birth to an old saying : those who eat their own food are the he e
countries like India, where malnutrition is high and food insecurity is a naggmg cong di e 55
households have used the home production system to remain out of this crisis. As stu tfls point
out, these households are also protected from market fluctuations, thus mg that they can
afford healthy food. Obviously, they are not impacted by food irflation either.

But there are serious conversations taking place over how climate change-induced extreme weather
events would impact such households. We need to understand the link between nutrition intake
and household food production, and whether, weather fluctuations would have any impact on
this. Researchers have analysed village level data from households with their own food production
and consumption, and co-related this with the local weather conditions to infer whether there
was a correlation. The paper establishes that people growing their own food consume more, thus
adding to nutrition levels and attainifig ovérall fopd security. There was also reduction in child
stunting and underweight conditions as well as women achieving a normal body mass index.
These trends are more prondunced in remote villages.

Some households have remained out of the crisis-of food insecurity by adopting -
1) home production systems ,

(2) high food prices |

(3) climate change conditions

(4) protection from extreme weather conditions

Identify the parts of speech of the underlined words.

A significant number of farming households produce food for their own consumption.

(1) noun, pronoun (2) adjective, pronoun
(3) adverb, pronoun J4)  noun, adjective

As mentioned in para 1, what is the series of eents that are triggered by o1
(a) increase in prices of food items b &8 Yy climate change ?

(b) detrimental effect on nutritional security \
(c) extreme weather condiu:ons e,
(d) reduced food consumption g

@b =@ @ @00

4 o) —'r (© = (d) = (a)

p-I1 (EGNENEATEaHR 7(;~£ P



: ,”R@dﬂ‘efo‘{owmgse“mes:
gh ) Asignificant numbe, o
@ Household food Produc

© Food insecurity ig a5

o tb; a(:;la(f&la(m) (@) is correct
2) (@) ) are alj ; 0
:?')’ (a) and (c) are mco:,;tm?b')'f

@ @ ad ®) areincomect, ()i compeey

andian households afford healthy food.
oerast has limited impact on food inflation.
Stonal phenomenon in India.

ich word can :
125. BY whl:h i the underlined word be replaced in the given sentence ?
y ends are mor. .
These ¢ Pfonounced in remote areas.’

(1) gnor {2) disregarded 48) important (4) noticeable

126, Complete the given word analogy :
: global : : erratic: 2
(1) dependable  (2) believable 43  consistent (4) disputable

127. What is correct about the health status of farmers who take to household food production ?
\{1) women with higher body mass index
(2) children are malnourished
(3) Dbetter nutritional intake
(4) stunted growth of children

128. Which statement is incorrect with regard to household food production ?
(1) Increase in number of malnourished children
42 Nutritional intake was better
(3) Food consumption in such households was higher
(4) Women enjoyed normal body mass index

Read the given extract and answer the questions that follow. (129-135)

1. Untouchable, a charming French comedy about
has been a huge internation
exactly did a rich French ans
friends ? Philip and Ab::ll hrf;: me
from a very wealthy family- ton = 0
great luxury. Then he had a terrible paraglidin

o s s ly and boring. :
Life in a wheelchair was lonely lifehpexams.in

two friends who have almost nothing in common,
al success. But before the story became a cinematic sensation, how
i tocrat and an Algerian immigrant with a criminal past become good
¢t in Paris in 1993 when Philip was looking for a nurse. He was
e time he had been a successful business man, living a life of
g accident and lost the use of his arms and legs.
Philip was struggling to imagine the future, and he

ith his day-to-day
needed practical help Wi Je for the job of a nurse. But none of them seemed right.

2 Philip interviewed more than 80 peop
had quit a life

of crime in Algeria and moved to France to look for work.

Then he met Abdul, Whot and quick-thinking. with a crazy sense of humour. Philip got on with

He was lively, intelligen

Abdul immediately, and he off€

red him the job. The two men didn’t have much in common.
classical music. Philip loved modern art, but Abdul

Abdul loved pop music, but Prilip P he had made a bad choice. They believed that Philip needed

hﬂ i ihn’ ily was sure ﬂmt - ’ « - » .
» ted it. l;‘h‘xlhcg ; f:::lly ‘ble. Meanwhile, Abdul wasn't planning on staying in the job for long.
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However, the; . . . ickly developed into p
the support i::ﬁl:c% riia:;mi:r‘\lgo(}-:nﬂ;, his energy andtrsi;enie of humour brought fun g
excitement back into Philip’s life. Abdul helped Philip make trips to oth ;
now live in differl:nt coung-is;:f :ach with a v\}r’ife: and family. They keep in touch regularly. Aj] thay

really matters to their friendship, though, it is their shared love of laughter and adventure.

129, Eomplete the given word analogy :
Xxury : opulence : : sensation : _?

(1) suspicion (2) disaster (3) callousness —(q) feeling
130. What bound the two very different men together for years ?
(1)  their immigration status (2) their love for adventure sports
- 83y~ warm friendship (4) love for music

131. Why did Philip need a nurse ?
(1) To resolve Abdul’s immigration status.
(2) To wipe out Abdul's criminal past.
«(3) To help him with day-to-day practical things of life.
(4) To listen to classical music together.

132. Identify the parts of speech of the underlined words.
However, their working relationship quickly developed into a close friendship.

(1) noun, adverb (2) adjective, adverb
(3) verb, adverb (4) adjective, verb

133. Read the sentences given below :
(a) ‘Untouchable’ is a French comedy movie.
(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
(c) The movie was a huge success in France and Algeria.

1)~ (a) and (b) are correct, (c) is incorrect
(2) (a), (b) and (c) are all incorrect

(3) (@) and (c) are correct, (b) is incorrect
@ (b) and (c) are incorrect, (a) is correct

134. Which aspect of Abdul’s personality is not true ?
(1) He preferred listening to classical music.
(2 He had a criminal past record.
(3) He was quick-witted and supportive.
(4) He shared a close rapport with his employer.

135. Abdul migrated to France to -
(1) search for emplo.yn.lent
Ly work in the movie mdusu.-y .
“(3) run away from the Algerian police

(4) listen to pop music
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" Ch of the fOHOWing roc .
136 o Braining Shormingp_ joes'ses :involved'for learning to write .well in a language ?
finalising. g down pOmls-makinganoutlme—wﬁtingthedmﬁ-ediﬁng-
Braining storming - .
@ & = Making an outline - drafting - jotting down points - editing - finalizing.

Braining storming - jott
@ . § - Jotting down points - writing the draft - making an outline - editing -

137. Wﬁnshc;fd?;fggmg 1s true of the three language formula ?
g 4d at least tw, ogm their schooling in their mother tongue/home language and move on to
. children be more languages by the time they complete their high school.
@ Al 1 en begin their schooling in the medium of English/home language and move on to
add at least two more languages by the time they complete their high school.
&) Al children begin their schooling in their state language and move on to add at least two
more l.anguages .by the time they complete their high school.
@ Al children begin their schooling in the official language, Hindi and move on to add at least
two more languages by the time they complete their high school.

138. Declarative knowledge is
1) know%ng how to do the grammatical item.
2). knowing to pronounce word in a language.
(3) knowledge about the grammatical item.
(4) knowing how to identify an error in a grammatical item.
139. Learners in a class of Social Science try to capture the main ideas of the classroom lecture and
make point of the lecture. What is this skill known as ?
() Cognitive skill  (2) Study skill (3) Listening skill (4) Writing skill

140. Learning Outcomes attempt to enable learner to :
(1) attain language components in measurable terms.
(2) attain the grammatical knowledge in measurable terms.

(3) attain the competencies in measurable terms.

J&«)’ attain minimum levels of learning of all skills.

141, A teacher in class VIII read outa text of five sentences in English twice and asked her learners to
she asked them to work in group of four to recreate text nearer to

listen to the text carefully. Then SO
the one read out, not exactly the same. What is thJs activity known as ?
() Listening task (2) Writing task
() Paragraph Dictation ‘) Collective Dictation
42, Elam Jass VIl is able to speak four languages, Kannada, Marathi, Hindi and English.
i w;ess a ai]m&?:rfl:’f:f’ languages freely when he speaks to his parents at home and in school he uses
the language known to his friends and teachers. What is

Hindi, Kannada and English 25 these are
o, Sa :
ﬂ\ﬂ;prha\;ﬁ:le i (2) Translingual ability
anguage (4) Code-moving

() Code-meshing
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, ) rmal properties
143, Which of the fouowing methods advocates oral drilling and ‘mastery of the fo P of
‘;msuage' as essential for language learning ?
(1) Totay Physical Response
Audiolingualism
%) —Communicative language teaching
(4)  Grammar translation method

144. A teacher of class VI brought items like spoon, plate, utensils,.bo&es and pan t? :re; ;lzzserzz;:cz
teach Vocabulary from there writing a description of objects in kitchen. Wha
Own as in language teaching ? .
Real life tagks (2) Teaching materials
()  Realia (4) Cooking items

145. Which of the following is NOT true of National Education Policy 2020 on language education ?
(1) Study of English as language under three language formula.
,(2) Study of a classica] language under three language formula.
WY~ Study of mother tongue/home language under three language formula.
4)  Study of Indian lariguages under three language formula.
146. Hereisa question. Read and find out which typology of question it belongs to.
Having read the story of the little girl, you feel moved by her suffering and courage to face the

trouble. You would write a letter to the little girl appreciating her. Write the letter in about 120
words.

(1) Discursive question (2)

Expressive questions
3)- Long answer question 4)

Extrapolative question -
147.

among learners ?

(1)  Literacy development ~(2)  Critical analysis
(3) Process based pedagogy (4) Critical Literacy

148. What is ‘Translanguaging’ ?
149. Which one of the following statements is true of langua

is refers to the proficiency in academic Jan age or languape .
e .(’fnhs Cognitive Academic Language ProfiCie;g\gyg(CALP) 8428€ needed for varioys content areas.
‘(2) Inter-language proficiency .
(3) Basic Interpersonal Communication Skilg (BICS)
(4) Communicative language proficiency
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